
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(vizSy eSx”khu tk¡p ijh{kk)
fnukad& 11-04-2021

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	gkbMªkstu b±/u lsy izkS|ksfxdh ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s\

	 1.	 gkbMªkstu b±/u lsy ,d fo|qr jklk;fud tsujsVj 
gS tks mi&mRiknksa ds :i esa mQ"ek vkSj ty iznku 
dj gkbMªkstu vkSj vkWDlhtu ds la;kstu ls fo|qr 
mRiknu djrk gSA

	 2.	 ;g fo|qr okgu] izkFkfed vkSj fofHkUu izdkj dh 
okf.kfT;d O;oLFkk ds fy;s cSdvi ikoj] vkS|ksfxd 
,oa vkoklh; Hkou vkSj ,;j VSDlh tSlh Hkfo"; 
dh rduhdksa gsrq ,d LoPN rFkk fo'oluh; 
oSdfYid mQtkZ lzksr iznku dj ldrk gSA

	 	fuEufyf[kr dwV dk iz;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 2.	vuqPNsn&21 ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 izfr"Bk dk vf/dkj] lafo/ku ds vuqPNsn&21 dk 
,d vfHkUu vax gSA

	 2.	 ^esudk xka/h cuke Hkkjr la?k* ekeys esa mPpre 
U;k;ky; us ekuk fd vuqPNsn&21 ds nk;js esa 
ekuoh; xfjek ds lkFk thus dk vf/dkj Hkh 
'kkfey gSA

	 3.	 vuqPNsn&21 ds varxZr fof/ }kjk LFkkfir izfØ;k 
ds vuqlkj] dksbZ Hkh O;fDr vius thou ;k O;fDrxr 
Lora=krk ls oafpr ugha gksxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 2	 (d)	1, 2 vkSj 3

	 3.	^Hkkjr uokpkj lwpdkad&2020* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 gky gh esa uhfr vk;ksx }kjk ^n baLVhV~;wV iQkWj 
daiVsfVousl* ds lg;ksx ls ;g lwpdkad tkjh fd;k 
x;kA

	 2.	 bl lwpdkad esa dsjy dks izeq[k jkT;ksa dh Js.kh esa 
'kh"kZ LFkku izkIr gqvk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa

	 (d)	 u rks 1, u gh 2

	 4.	^jksfg.kh vk;ksx* lacaf/r gS&
	 (a)	 cSadksa esa lq/kj ls

	 (b)	 efgykvksa dh lqj{kk ls

	 (c)	 i;kZoj.k ls

	 (d)	 vU; fiNM+k oxZ ds mi&Js.khdj.k ls

	 1.	 Consider the following statements with reference to 
hydrogen fuel cell technology:

	 1.	 Hydrogen fuel cell is an electrochemical 
generator that produces electricity by 
combining hydrogen and oxygen by providing 
heat and water as by-products.

	 2.	 It can provide a clean and reliable alternative 
energy source for future technologies such as 
electric vehicles, backup power for primary 
and various types of commercial arrangements, 
industrial and residential buildings and air 
taxis.

		  Select the correct answer using the code given below:
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 2.	 Consider the following statements with reference to 
Article 21-

	 1.	 The right to dignity is an integral part of Article 
21 of the Constitution.

	 2.	 In 'Maneka Gandhi v. Union of India', the 
Supreme Court held that the scope of Article 
21 includes the right to live with human dignity.

	 3.	 According to the procedure established by law 
under Article-21, no person shall be deprived 
of his life or personal liberty.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 and 3 only

	 (c)	 2 only	 (d)	 1, 2 and 3

	 3.	 Consider the following statements with reference to 
'India Innovation Index -2020'-

	 1.	 Recently this index was released by NITI 
Aayog in collaboration with 'The Institute for 
Competitiveness'.

	 2.	 Kerala has topped the rank of major states in 
this index.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 4.	 'Rohini Commission' is related to-
	 (a)	 Banking reforms

	 (b)	 Protection of women

	 (c)	 Environment

	 (d)	 Sub-categorization of Other Backward Classes
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	 5.	^eè;LFkrk vkSj lqyg (la'kks/u) fo/s;d] 2021* ds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s& 

	 1.	 gky gh esa yksdlHkk us ̂ ÝykbZZ&ck;&ukbV vkWijsVj* 
}kjk /ks[kkèkM+h ls dkuwu dk nq#i;ksx fd;s tkus 
dh tk¡p ds fy;s bl fo/s;d dks ikfjr fd;k gSA

	 2.	 bl fo/s;d ds vuqlkj] eè;LFkksa dh ;ksX;rk dk 
fu/kZj.k ,d eè;LFkrk ifj"kn }kjk fu/kZfjr fu;eksa 
}kjk fd;k tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 6.	jktnzksg dkuwu ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 Hkkjrh; naM lafgrk dh /kjk 124A ds vuqlkj 
jktnzksg ,d izdkj dk xSj&tekurh vijk/ gSA

	 2.	 bl dkuwu esa jktnzksg ds varxZr Hkkjr esa dkuwu 
}kjk LFkkfir ljdkj ds izfr dsoy ekSf[kd] fyf[kr 
('kCnksa }kjk) :i esa ?k`.kk ;k voekuuk ;k mÙkstuk 
iSnk djus ds iz;Ru dks 'kkfey fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 7.	fMftVy baVsfytsal ;wfuV ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s&

	 1.	 gky gh esa dasnzh; lapkj ea=kky; us vokafNr 
okf.kfT;d lapkj dh f'kdk;rksa vkSj foÙkh; 
èkks[kkèkM+h ds ekeyksa ls fuiVus ds fy;s ^fMftVy 
baVsfytsal ;wfuV* dks ,d uksMy ,tsalh ds :i esa 
LFkkfir djus dk fu.kZ; fy;k gSA

	 2.	 bldk mn~ns'; nwjlapkj lalk/uksa ls tqM+h fdlh Hkh 
/ks[kk/M+h dh xfrfof/ dh tk¡p esa fofHkUu dkuwu 
izorZu ,tsafl;ksa] foÙkh; laLFkkvksa vkSj nwjlapkj lsok 
iznkrkvksa ds chp leUo; LFkkfir djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 8.	ty thou fe'ku ('kgjh) ds mn~ns';ksa esa 'kkfey gSa&

	 1.	 uy vkSj lhoj dusD'ku dh igq¡p lqfuf'pr djukA

	 2.	 ty fudk;ksa dk iqu#RFkkuA

	 3	 pØh; ty vFkZO;oLFkk dh LFkkiuk djukA

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 5.	 Consider the following statements with reference to 
the 'Arbitration and Conciliation (Amendment) Bill, 
2021'-

	 1.	 Recently, the Lok Sabha has passed this Bill 
to investigate the misuse of the law by 'Fly-
by-night operators'.

	 2.	 According to this Bill, the eligibility of 
arbitrators shall be determined by the rules laid 
down by an arbitration council.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 6.	 Consider the following statementswith reference to 
the sedition law-

	 1.	 According to Section 124A of the Indian Penal 
Code, sedition is a non-bailable offence.

	 2.	 The law of treason includes any attempt to 
create hatred or contempt or incitement only 
in verbal, written (by words) form against the 
government established by law in India.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 7.	 Consider the following statements with reference to 
Digital Intelligence Unit-

	 1.	 Recently Union Ministry of Communications 
has decided to establish Digital Intelligence 
Unit as a nodal agency to deal with complaints 
of unsolicited commercial communication and 
cases of financial fraud.

	 2.	 It aims to establish coordination between 
various law enforcement agencies, financial 
institutions and telecom service providers in 
investigating any fraudulent activity involving 
telecommunications resources.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2 

	 8.	 The objectives of the Jal Jeevan Mission (Urban) 
include-

	 1.	 Ensuring access to tap and sewer connections.

	 2.	 Resurrection of water bodies.

	 3.	 Establish a cyclic water economy.

		  Select the correct answer using the code given below:
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3



4lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 8750187501, 011-47532596

bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 9.	ifjlaifÙk iqufuZekZ.k daiuh ds lanHkZ esa fuEufyf[kr esa ls 
dkSu&ls dFku lgh gSa\

	 1.	 ;g ,d fo'ks"k foÙkh; laLFkku gS tks cSadksa ,oa 
foÙkh; laLFkkuksa ls xSj&fu"iknudkjh ifjlaifÙk;k¡ 
[kjhnrk gS rkfd os viuh cSysal'khV dks LoPN j[k 
ldsA

	 2.	 ^ljiQslh vf/fu;e] 2002* Hkkjr esa ifjlaifÙk 
iqufuZekZ.k daiuh dh LFkkiuk ds fy;s dkuwuh 
vkèkkj iznku djrk gSA

	 3.	 dsanzh; ctV 2021–22 esa ifjlaifÙk iqufuZekZ.k daiuh 
dks jkT; ds LokfeRo okys vkSj futh {ks=k ds cSadksa 
}kjk LFkkfir djus dk izLrko fd;k x;k gSA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 10.	?kjsyw iz.kkyhxr egÙoiw.kZ cSad ds lanHkZ esa fuEufyf[kr 
esa ls dkSu&lk dFku lgh ugha gS\

	 (a)	 dsanz ljdkj us 2014 esa ?kjsyw iz.kkyhxr egÙoiw.kZ 
cSadksa ls lacaf/r :ijs[kk tkjh dh FkhA

	 (b)	 ?kjsyw iz.kkyhxr egÙoiw.kZ cSadksa dk izsQeodZ bl 
ckr ij è;ku dsafnzr djrk gS fd cSadksa dh foiQyrk 
dk izHkko ?kjsyw vFkZO;oLFkk ij u iM+sA

	 (c)	 vkj-ch-vkbZ- us Hkkjrh; LVsV cSad] vkbZ-lh-vkbZ-lh-
vkbZ- cSad vkSj ,p-Mh-,iQ-lh- cSad dks ?kjsyw iz.kkyhxr 
egÙoiw.kZ cSadksa ds :i esa cuk, j[kk gSA

	 (d)	 ?kjsyw iz.kkyhxr egÙoiw.kZ cSad ds ewY;kadu ds 
fy;s ftu ladsrdksa dk mi;ksx fd;k tkrk gS] muesa 
cSad dk vkdkj] varl±;kstukRedrk] izfrLFkkiu vkSj 
tfVyrk vkfn 'kkfey gaSA

	 11.	15osa foÙk vk;ksx us dsanz ljdkj }kjk jktdks"kh; ?kkVs dks] 
foÙk o"kZ 2022 ds ldy ?kjsyw mRikn ds 6.8% ls o"kZ 
2025–26 esa fdrus izfr'kr ykus dh vuq'kalk dh gS\

	 (a)	 6.0%	 (b)	5.0%

	 (c)	 3.0%	 (d)	4.0%

	 12.	gky gh esa i`Foh foKku ea=kky; us ^Cyw bdksukWeh uhfr* 
dk elkSnk tkjh fd;k gSA bl lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s&

	 1.	 bldk mn~ns'; Hkkjr ds ldy ?kjsyw mRiknu esa 
^Cyw bdksukWeh* ds ;ksxnku esa c<+ksrjh djuk gSA

	 2.	 ^Cyw bdksukWeh*] ftlesa leqnzh lalk/uksa ij fuHkZj 
vkfFkZd xfrfof/;k¡ 'kkfey gSa] Hkkjrh; vFkZO;oLFkk 
esa dqy 4.1% ;ksxnku nsrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 9.	 Which of the following statements is / are correct 
regarding the asset reconstruction company?

	 1.	 It is a specialized financial institution that 
purchases non-performing assets from banks 
and financial institutions to keep their balance 
sheets clean.

	 2.	 The 'Sarfaesi Act, 2002' provides the legal basis 
for the establishment of an asset reconstruction 
company in India.

	 3.	 In the Union Budget 2021-22, the asset 
reconstruction company is proposed to be set 
up by state-owned and private sector banks.

		  Code:
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 10.	 Which one of the following statement is NOT correct 

in the context of Domestic Systemically Important 
Banks?

	 (a)	 The Central Government released a framework 
for domestic systemically important banks in 
2014.

	 (b)	 The framework of the domestic systemically 
important banks focuses on that the failure of 
the banks should not affect the domestic 
economy.

	 (c)	 The RBI has retained State Bank of India, 
ICICI Bank and HDFC Bank as domestic 
systemically important banks.

	 (d)	 The indicators that are used to evaluate a bank 
systemically important bank include the size 
of the bank, interoperability, transposition and 
complexity, etc.

	 11.	 The 15th Finance Commission has recommended the 
central government to bring the fiscal deficit from 
6.8% of GDP in FY 2022 to what percent in 2025-26?

	 (a)	 6.0%	 (b)	 5.0%
	 (c)	 3.0%	 (d)	 4.0%
	 12.	 Recently the Ministry of Earth Sciences has released 

the draft of 'Blue Economy Policy'. In this context, 
consider the following statements-

	 1.	 It aims to increase the contribution of the 'Blue 
Economy' to India's GDP.

	 2.	 The 'Blue Economy', which includes economic 
activities dependent on marine resources, 
contributes a total of 4.1% to the Indian 
economy.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 13.	gky gh esa vkj-ch-vkbZ- }kjk xSj&cSafdax foÙkh; daifu;ksa 
ds fofu;eu esa izxfr'khy o`f¼ ds lkFk ,d 4 Lrjh; 
<k¡ps dk fuekZ.k djds ,d lqn`<+ fu;ked <k¡pk izLrkfor 
fd;k gS] bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 izLrkfor <k¡ps dk mn~ns'; foÙkh; fLFkjrk dh j{kk 
djuk rFkk bl ckr dks lqfuf'pr djuk gS fd 
NksVh NBFCs vklku fu;eks a ds lkFk vkxs 
c<+ jgh gkasA

	 2.	 izLrkfor pkj Lrjh; lajpuk esa csl ys;j] fefMy 
ys;j] vij ys;j vkSj VkWi ys;j 'kkfey gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 14.	fo'o [kk| lqj{kk lfefr ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s&

	 1.	 lHkh fgr/kjdksa dh [kk| lqj{kk vkSj iks"k.k lqfuf'pr 
djus gsrq ,d lkFk dke djus ds fy;s ;g lcls 
egÙoiw.kZ varjkZ"Vªh; vkSj varj&ljdkjh eap gSA

	 2.	 fo'o [kk| lqj{kk lfefr dks ^[kk| vkSj Ñf"k 
laxBu*] ^baVjus'kuy iaQM iQkWj ,xzhdYpjy 
MsoysiesaV* vkSj ̂ oYMZ iwQM izksxzke* }kjk leku :i 
ls foÙkiksf"kr fd;k tkrk gSA

	 3.	 fo'o [kk| lqj{kk lfefr us igyh ckj [kk| 
iz.kkfy;ksa vkSj iks"k.k ij LoSfPNd fn'kk&funsZ'kksa dk 
leFkZu fd;k gS] ftldk mn~ns'; [kk| iz.kkyh 
n`f"Vdks.k dk mi;ksx dj Hkw[k vkSj dqiks"k.k ds 
lHkh :iksa dks lekIr djus ds fy;s ns'kksa dh lgk;rk 
djuk gSA

	 	dwV dh lgk;rk ls lgh mÙkj pqfu;s%
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 15.	gky gh esa laln }kjk ^izeq[k canjxkg izkf/dj.k fo/s;d* 
ikfjr fd;k x;k gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 ;g fo/s;d ^izeq[k iksVZ VªLV vf/fu;e&1963* 
dh txg ysxkA

	 2.	 blesa ,d izeq[k canjxkg izkf/dj.k cksMZ ds fuekZ.k 
dk izko/ku gSA

	 3.	 Hkkjr esa izeq[k canjxkgksa dh la[;k 21 gSA

	 4.	 fo/s;d ns'k ds izeq[k canjxkgksa dks fu.kZ; ysus esa 
vf/d Lok;Ùkrk iznku djus vkSj cksMZ LFkkfir dj 
muds 'kklu dk O;kolk;hdj.k djus dk iz;kl 
djrk gSA

	 	dwV dh lgk;rk ls lgh mÙkj dk p;u dhft;s&
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2, 3 vkSj 4 

	 (c)	 dsoy 1, 2 vkSj 4	 (d)	dsoy 1, 2 vkSj 3

	 13.	 Recently RBI has proposed a strong regulatory 
structure by creating a 4 tier structure with progressive 
increase in regulation of NBFCs, consider the 
following statements in this context-

	 1.	 The proposed framework aims to protect 
financial stability and ensure that small NBFCs 
are moving ahead with easier rules.

	 2.	 The proposed four tier structure consists of 
base layer, middle layer, upper layer and top 
layer.

		  Which of the statement(s) given above is/are NOT 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 14.	 Consider the following statements with reference to 

the World Food Safety Committee-
	 1.	 It is the most important international and inter-

governmental platform for all stakeholders to 
work together to ensure food safety and 
nutrition.

	 2.	 The World Food Safety Committee is funded 
equally by the 'Food and Agriculture 
Organization', 'International Fund for 
Agricultural Development' and 'World Food 
Program'.

	 3.	 The World Food Safety Committee has for the 
first time endorsed voluntary guidelines on 
food systems and nutrition, aimed at helping 
countries to end all forms of hunger and 
malnutrition using a food system approach.

		  Select the correct answer using the code given below:
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 15.	 Recently the 'Major Port Authorities Bill' has been 

passed by the Parliament. In this context, consider 
the following statements-

	 1.	 This Bill will replace the 'Major Port Trust 
Act-1963'.

	 2.	 It has provision for the construction of a major 
port authority board.

	 3.	 The number of major ports in India is 21.
	 4.	 The Bill seeks to provide greater autonomy in 

decision-making to major ports of the country 
and to commercialize their governance by 
establishing boards.

		  Select the correct answer using the code given below-
	 (a)	 1 and 2 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 2 and 4 only	 (d)	 1, 2 and 3 only
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	 16.	Hkkjr dh oSDlhu dwVuhfr ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s&

	 1.	 oSDlhu dwVuhfr] oSf'od LokLF; dwVuhfr dk 
fgLlk gS] ftlesa ,d jk"Vª vU; ns'kksa ds lkFk lacaèkksa 
dks etcwr djus ds fy;s Vhdksa ds fodkl ;k 
forj.k dk mi;ksx djrk gSA

	 2.	 Hkkjr us dbZ ns'kksa dks egkekjh ls fuiVus ds fy;s 
gkbMªksDlhDyksjksDohu] jsesfMlfoj vkSj iSjkflVkekWy 
tSlh nokb;k¡] Mk;XuksfLVd fdV] osafVysVj rFkk 
vU; esfMdy midj.k iznku fd;s FksA

	 3.	 ^oSDlhu dwVuhfr*] Hkkjr dh ^uscjgqM iQLVZ* uhfr 
ds vuq:i gSA

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 17.	^dyknku ifj;kstuk* lacaf/r gS&

	 (a)	 Hkkjr vkSj E;kaekj ls

	 (b)	 Hkkjr vkSj ckaXykns'k ls

	 (c)	 Hkkjr vkSj viQxkfuLrku ls

	 (d)	 Hkkjr vkSj Jhyadk ls

	 18.	fuEufyf[kr ns'kksa ij fopkj dhft;s%

	 1.	 btjkby	 2.	 fiQfyLrhu

	 3.	 :l	 4.	 cgjhu

	 5.	 E;kaekj	 6.	 bZjkd

	 	mi;qZDr esa ls dkSu&ls ns'k if'pe ,f'k;k 'kkafr lEesyu 
ds lnL;ksa esa 'kkfey gSa&

	 (a)	 dsoy 1, 2, 3 vkSj 4	 (b)	dsoy 2, 3, 4 vkSj 5

	 (c)	 dsoy 1, 3, 4, 5 vkSj 6	 (d)	dsoy 2, 4, 5 vkSj 6

	 19.	gky gh esa Hkkjr us varjkZ"Vªh; mQtkZ ,tsalh ds lkFk ,d 
^j.kuhfrd lk>snkjh le>kSrk* fd;k gSA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft,&

	 1.	 bldk mn~ns'; mQtkZ {ks=k esa j.kuhfrd vkSj rduhdh 
lg;ksx dks izksRlkfgr djuk gSA

	 2.	 blls ekStwnk mQtkZ {ks=kksa esa lq/kj vkSj LoPN mQtkZ 
laØe.k dk;ZØeksa dk fuekZ.k gksxk] tSls mQtkZ lqj{kk] 
LoPN vkSj LFkk;h mQtkZ] mQtkZ n{krk] isVªksfy;e 
HkaMkj.k {kerk rFkk Hkkjr esa xSl vk/kfjr 
vFkZO;oLFkk dk foLrkjA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa

	 (d)	 u rks 1, u gh 2

	 16.	 Consider the following statements with reference to 
India's vaccine diplomacy-

	 1.	 Vaccine diplomacy is part of global health 
diplomacy, in which a nation uses the 
development or distribution of vaccines to 
strengthen relations with other countries.

	 2.	 I nd ia  p rov ided  med ic ines  such  a s 
hydroxychloroquine, remediesvir and 
paracetamol, diagnostic kits, ventilators, and 
other medical equipment to many countries to 
combat the epidemic.

	 3.	 'Vaccine Diplomacy' is in line with India's 
'Neighborhood First Policy'.

		  Select the correct answer using the code given below:
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 17.	 'Kaladan Project' is related to-
	 (a)	 India and Myanmar

	 (b)	 India and Bangladesh

	 (c)	 India and Afghanistan

	 (d)	 India from Sri Lanka

	 18.	 Consider the following countries:
	 1.	 Israel	 2.	 Palestine

	 3.	 Russia 	 4.	 Bahrain

	 5.	 Myanmar	 6.	 Iraq 

		  Which of the following countries is / are the members 
of the West Asia Peace Conference-

	 (a)	 1, 2, 3 and 4 only	 (b)	 2, 3, 4 and 5 only

	 (c)	 1, 3, 4, 5 and 6 only	 (d)	 2, 4, 5 and 6 only

	 19.	 Recently India has entered into a 'strategic partnership 
agreement' with the International Energy Agency. In 
this context, consider the following statements:

	 1.	 It aims to encourage strategic and technical 
cooperation in the energy sector.

	 2.	 This will create improved and cleaner energy 
transition programs in existing energy sectors, 
such as energy security, clean and sustainable 
energy, energy efficiency, petroleum storage 
capacity and expansion of gas based economy 
in India.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only

	 (b)	 2 only

	 (c)	 Both 1 and 2

	 (d)	 Neither 1 nor 2
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	 20.	gky gh esa ^U;w LVkVZ laf/* ds foLrkj dks eatwjh nh xbZ 
gS] tks lacaf/r ns'kksa ds eè; ijek.kq gfFk;kjksa dks lhfer 
djsxkA ;s ns'k gSa&

	 (a)	 :l rFkk vesfjdk

	 (b)	 izQk¡l rFkk teZuh

	 (c)	 Hkkjr rFkk :l

	 (d)	 phu rFkk :l

	 21.	gky gh esa fdl ns'k }kjk gkWUxdkWUx ds fuokfl;ksa dks 
vius ns'k esa fuokl djus vkSj ukxfjdrk iznku djus ds 
fy;s ,d fo'ks"k izdkj dk oh”kk 'kq: fd;k x;k gS&

	 (a)	 fczVsu	 (b)	:l

	 (c)	 vesfjdk	 (d)	Hkkjr

	 22.	gky gh esa uklk ds eaxy fe'ku ds varxZr ^i£lojsal 
jksoj* eaxy ij mrjk gSA bl lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s&

	 1.	 eaxy xzg ds Hkw&foKku dks le>ukA

	 2.	 vU; mixzgksa dk vè;;u djukA

	 3.	 thou ds izkphure lk{;ksa dk irk yxkukA

	 4.	 Hkfo"; esa jkscksV vkSj ekuo lacaèkh vUos"k.k ds fy;s 
izkS|ksfxdh dk mi;ksxA

	 	mi;qZDr esa ls dkSu&ls mn~ns'; bl fe'ku ds mís';ksa esa 
'kkfey gSa\	

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1, 3 vkSj 4	 (d)	1, 2, 3 vkSj 4

	 23.	LDok;j fdyksehVj ,js VsyhLdksi ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 ;g fo'o dk lcls cM+k jsfM;ks VsyhLdksi@nwjchu 
gS] ftldh LFkkiuk dh ea”kwjh LDok;j fdyksehVj 
,js vkWC”kosZVjh ifj"kn }kjk nh xbZA

	 2.	 bls I;wVksZ fjdks eas fLFkr fo'o dh lokZfèkd izpfyr 
jsfM;ks nwjchu ̂ vjsflcks* ds fodYi ds :i esa ns[kk 
tk jgk gSA

	 3.	 LDok;j fdyksehVj ,js VsyhLdksi dh LFkkiuk Hkkjr 
vkSj izQk¡l esa dh tk,xhA

	 		 fuEufyf[kr dwV dh lgk;rk ls lgh mÙkj pqfu;s&

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3 

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 24.	^gaVj flaMªkse% ,e ih ,l II* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ,e-ih-,l- II ,d nqyZHk chekjh gS tks ,d ifjokj 
esa ,d ls nwljs esa igq¡prh gSA

	 2.	 blls ihfM+r yksxksa dk 'kjhj ,d izdkj dh 'kdZjk 
dks vi?kfVr ugha dj ikrk gS tks gfM~M;ksa] Ropk] 
is'kh vkSj vU; mQrdksa dk fuekZ.k djrh gSA

	 20.	 Recently, the extension of the 'New Start Treaty' has 
been approved, which will limit nuclear weapons 
between the countries concerned. These countries are-

	 (a)	 Russia and America

	 (b)	 France and Germany

	 (c)	 India and Russia

	 (d)	 China and Russia

	 21.	 Recently which of the following country has 
introduced a special type of Visa for the residents of 
Hong Kong to reside in their country and grant 
citizenship?

	 (a)	 Britain	 (b)	 Russia

	 (c)	 America	 (d)	 India

	 22.	 Recently, 'Perseverance Rover' has landed on Mars 
under NASA's Mars mission. In this context, consider 
the following statements-

	 1.	 Understanding the geology of Mars.

	 2.	 To study other satellites.

	 3.	 To find out the oldest evidences of life. 

	 4.	 Use of technology for robot and human related 
exploration in future.

		  Which of the above objectives are included is this 
missions objectives?

	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only

	 (c)	 1, 3 and 4 only	 (d)	 1, 2, 3 and 4

	 23.	 Consider the following statements with reference to 
the square kilometer array telescope-

	 1.	 It is the world's largest radio telescope, which 
establishment was approved by the Square 
Kilometer Array Observatory Council.

	 2.	 It is being seen as an alternative to 'Arecibo', 
the world's most popular radio telescope 
located in Puerto Rico.

	 3.	 The Square Kilometer Array Telescope will be 
established in India and France.

		  Select the correct answer using the code given below:
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 24.	 Consider the following statements with reference to 
‘Hunter syndrome: MPS-II,’ :

	 1.	 MPS-II is a rare disease that is transmitted from 
one family to another.

	 2.	 The body of people suffering from this disease 
is not able to decompose a type of sugar which 
makes bones, skin, muscles and other tissues.
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	 	mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 25.	Hkw&LFkkfud vk¡dM+ksa ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dht;s%

	 1.	 blls vofLFkfr] le; rFkk oLrq] ?kVuk ;k lacafèkr 
?kVukvksa dh tkudkjh izkIr gksrh gSA

	 2.	 Hkw&LFkkfud vk¡dM+s dsoy fLFkj oLrqvksa ds gks 
ldrs gSaA

	 3.	 Hkw&LFkkfud vk¡dM+ksa dk mi;ksx [kk| forj.k] 
bZ&dkWelZ] ekSle dh tkudkjh tSls fofHkUu ,Il 
esa gksrk gSA

	 		 mi;qZDr dFkuksa esa dkSu lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	dsoy 1 vkSj 3

	 26.	^LekVZ ,aVh ,;jiQhYM osiu* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 gky gh esa Mh-vkj-Mh-vks- us Lons'k fu£er ^LekVZ 
,aVh ,;jiQhYM osiu* dk liQy mM+ku ijh{k.k 
fd;k gSA

	 2.	 ;g iz.kkyh XykbM ce Js.kh ls lacafèkr gSA

	 3.	 ;g ijh{k.k fganqLrku ,;jksukWfVDl fyfeVsM ds 
gkWd&I foeku ds tfj;s fd;k x;kA

		  mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2 	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 27.	^tyok;q vuqdwyu f'k[kj lEesyu& 2021* ds lanHkZ esa 
dkSu&lk dFku lgh ugha gS\

	 (a)	 o"kZ 2021 ds fy;s ;g f'k[kj lEesyu] fLoV~tjySaM 
dh estckuh esa vk;ksftr fd;k x;kA

	 (b)	 ;g ,slk izFke oSf'od f'k[kj lEesyu gS] tks iwjh 
rjg ls tyok;q ifjorZu ds izHkkoksa dks de djus 
ds fy;s vuqdwyu ij è;ku dsafnzr djrk gSA

	 (c)	 Hkkjr }kjk Hkh oSf'od Lrj ij yksp'khy cqfu;knh 
<k¡ps dh fn'kk esa ^vkink izfrjksèkh yksp'khy 
volajpuk ds fy;s xBcaèku* dks oSf'od deh'ku 
ds :i esa viukus dk vkàkou fd;k x;kA 

	 (d)	 ^tyok;q vuqdwyu f'k[kj lEesyu&2021* ds nkSjku 
^vMSIVs'ku ,D'ku ,tsaMk* viuk;k x;kA

	 28.	^jkelj vfHkle;* ds lanHkZ esa fuEufyf[kr esa ls dkSu&ls 
dFku lgh gSa\

	 1.	 2 iQjojh] 2021 dks fo'o vknzZHkwfe fnol dh 50oha 
o"kZxk¡B ds volj ij ̂ vknzZHkwfe laj{k.k vkSj izcaèku 
dsanz* LFkkfir djus dh ?kks"k.kk dh xbZA

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 25.	 Consider the following statements in the context of 
geospatial data:

	 1.	 Get information about location, time and 
object, event or related events.

	 2.	 The static objects can only have geospatial 
data.

	 3.	 Geospatial data is used in various apps like 
food distribution, e-commerce, weather 
information.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 1 and 3 only

	 26.	 Consider the following statements with reference to 
'Smart Anti Airfield Weapon'-

	 1.	 Recently DRDO has conducted a successful 
test flight of indigenously developed 'Smart 
Anti Airfield Weapon'.

	 2.	 This system is related to the glide bomb 
category.

	 3.	 The test was conducted through the Hawk-I 
aircraft of Hindustan Aeronautics Limited.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 27.	 Which of the following statement is NOT correct in 
the context of 'Climate Adaptation Summit - 2021'?

	 (a)	 This summit for the year 2021 was hosted by 
Switzerland.

	 (b)	 This is the first global summit to focus solely 
on adaptation to mitigate the effects of climate 
change.

	 (c)	 India also called for the adoption of the 
'Coalition for Disaster Resistant Resilient 
Infrastructure' as a global commission towards 
a globally resilient infrastructure.

	 (d)	 ‘Adaptation Action Agenda’ was adopted 
during the ‘Climate Adaptation Summit-2021’.

	 28.	 Which of the following statements are correct with 
reference to ‘Ramsar Convention’?

	 1.	 It was announced to establish a 'Center for 
Wetland Conservation and Management' on 
February 2, 2021, on the occasion of the 50th 
anniversary of World Wetland Day.
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	 2.	 o"kZ 2021 ds fy;s ̂ fo'o vknzZHkwfe fnol* dh Fkhe 
gS% ^vknzZHkwfe vkSj ty*

	 3.	 uxjh; vknzZHkwfe ds egÙo dks ekU;rk nsus dh fn'kk 
esa jkelj vfHkle; ds rgr ^osVySaM flVh* ds 
:i esa ekU;rk nsus dh ;kstuk 'kq: dh xbZA

	 	fuEufyf[kr dwV dh lgk;rk ls lgh mÙkj pqfu;s%
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 29.	gky gh esa oSKkfudksa us mu HkkSfrd fo'ks"krkvksa vkSj thuksa 
dh igpku dh gS] ftuls pkoy dh iQly esa ^ukbVªkstu 
mi;ksx n{krk* c<+kus esa enn feysxhA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 oSKkfudksa us laHkkfor iQly lqèkkj ds fy;s ̂ ukbVªkstu 
mi;ksx n{krk* ls tqM+s 34 thuksa dh Hkh igpku dh 
gS] tks pkoy ds lkFk gh vU; iQlyksa ds fy;s 
Hkh izklafxd gks ldrs gSaA

	 2.	 ^ukbVªkstu mi;ksx n{krk*] cks, x, Ñf"k {ks=k esa 
mi;ksx dh xbZ ukbVªkstu dh dqy ek=kk rFkk blesa 
ls ikSèks }kjk vo'kksf"kr vkSj mi;ksx dh xbZ ukbVªkstu 
dh ek=kk dk vuqikr gSA

	 3.	 orZeku esa iQlysa dsoy 60% ukbVªkstu moZjd dk 
gh mi;ksx dj ikrh gSaA

	 	mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1

	 (c)	 dsoy 3	 (d)	dsoy 2 vkSj 3

	 30.	^fo'o lrr~ fodkl f'k[kj lEesyu&2021* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 o"kZ 2021 ds f'k[kj lEesyu dk fo"k; Fkk& ̂ vius 
lk>k Hkfo"; dks iquiZfjHkkf"kr djuk% lHkh ds fy;s 
lajf{kr vkSj lqjf{kr okrkoj.kA*

	 2.	 tyok;q U;k; ij cy] tyok;q 'keu iz;kl] vkink 
yksp'khy volajpuk bR;kfn eqís Hkkjr }kjk mBk, 
x,A

	 3.	 lEesyu dk mís'; lrr~ fodkl] mQtkZ ,oa i;kZoj.k 
{ks=k ls lacafèkr oSf'od usrkvksa vkSj fo}kuksa dks 
,d lk>k eap miyCèk djkuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3 

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 31.	^fe'ku buksos'ku 2.0* ds lanHkZ esa fuEufyf[kr ij fopkj 
dhft;s&

	 1.	 LekVZ fxzM

	 2.	 dkcZu dSIpj

	 3.	 lrr~ tSo b±èku

	 4.	 ifjo£rr lkSj izdk'k

	 5.	 LoPN is;ty

	 2.	 The theme of 'World Wetlands Day' for the 
year 2021 is: 'wetlands and water'

	 3.	 In recognition of the importance of urban 
wetlands, a scheme was started to be recognized 
as 'Wetland City' under the Ramsar Convention.

		  Select the correct answer using the following code:
	 (a)	 1 and 2 only	 (b)	 1 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 29.	 Recently, the scientists have identified the physical 
characteristics and genes that will help to increase 
the 'nitrogen utilization efficiency' in rice crop. In this 
context, consider the following statements:

	 1.	 Scientists have also identified 34 genes 
associated with 'nitrogen utilization efficiency' 
for possible crop improvement, which may be 
relevant to rice as well as other crops.

	 2.	 'Nitrogen utilization efficiency' is the ratio of 
the total amount of nitrogen used in the sown 
agricultural sector to the amount of nitrogen 
absorbed and used by the plant.

	 3.	 At present, the crops only use 60% of nitrogen 
fertilizer.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 1 only

	 (c)	 3 only	 (d)	 2 and 3 only

	 30.	 Consider the following statements with reference to 
'World Sustainable Development Summit-2021'-

	 1.	 The theme of the year 2021 summit was - 
'Redefining our common future: Safe and 
secure environment for all'.

	 2.	 Emphasis on climate justice, climate mitigation 
efforts, disaster resilient infrastructure etc. 
issues was raised by India.

	 3.	 The aim of the conference is to provide a 
common platform to global leaders and 
scholars related to sustainable development, 
energy and environment.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 31.	 Consider the followings with reference to 'Mission 

Innovation 2.0'-
	 1.	 Smart Grid
	 2.	 Carbon capture
	 3.	 Sustainable Biofuels
	 4.	 Transformed Solar Light
	 5.	 Clean drinking water
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	 	mi;qZDr esa ls dkSu ls fe'ku buksos'ku ds rgr uokpkj 
pqukSfr;ksa ds :i esa fuèkkZfjr fd;s x;s gSa&

	 (a)	 dsoy 1, 2, 3 vkSj 4 	 (b)	dsoy 2, 3, 4 vkSj 5

	 (c)	 dsoy 1, 3, 4 vkSj 5	 (d)	mijksDr lHkh

	 32.	^lh ohM fe'ku* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 leqnzh 'kSoky dh [ksrh ds fy;s Hkkjr ds rVorhZ 
{ks=kksa esa ,d gsDVs;j ls vfèkd {ks=k esa ekWMy iQkeZ 
dh LFkkiuk djukA

	 2.	 vk£Fkd :i ls iQk;nsean leqnzh 'kSoky dh cM+s 
iSekus ij [skrh ds fy;s cht dh vkiw£r vU; ns'kksa 
ls dh tk,xhA

	 3.	 miHkksDrk ds [kku&iku dh vknrksa ds vuq:i [kk| 
leqnzh 'kSoky ds fy;s izlaLdj.k izkS|ksfxfd;ksa dh 
LFkkiuk djukA

	 	mi;qZDr dFkuksa esa ls dkSu lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 dsoy 1 vkSj 3 	 (d)	dsoy 2 vkSj 3

	 33.	^baVjus'kuy ,uthZ ,tsalh Dyhu dksy lsaVj* ds ,d vè;;u 
ds vuqlkj] dks;yk ngu Hkkjr esa gksus okys vR;fèkd ok;q 
iznw"k.k ds fy;s eq[;r% ftEesnkj gSA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 blds vuqlkj] dks;yk vkèkkfjr rki fo|qr LVs'ku 
dqy lYiQj MkbZvkWDlkbM ds vkèks] ukbVªkstu ds 
30% vkSj dqy ik£VdqysV eSVj (PM) ds yxHkx 
20% mRltZu ds fy;s ftEesnkj gSaA

	 2.	 ifjogu vkSj vU; vkS|ksfxd {ks=k dks;yk vkèkkfjr 
rki fo|qr LVs'kuksa ds ckn ok;q iznw"k.k ds fy;s 
f”kEesnkj {ks=kksa esa nwljs LFkku ij gSA

	 	mi;qZDr esa ls dkSu lk@ls dFku lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 34.	^oSf'od tyok;q tksf[ke lwpdkad&2021* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ;g lwpdkad pje ekSleh ?kVukvksa ls gksus okys 
uqdlku dk fo'ys"k.k djrk gSA

	 2.	 Hkkjr] pje tyok;q ?kVukvksa ls lokZfèkd cqjh rjg 
izHkkfor gksus okyk ns'k gSA

	 3.	 lwpdkad ds vuqlkj] o"kZ 2019 esa pje ekSleh 
?kVukvksa tfur tugkfu vkSj vk£Fkd uqdlku ds 
fy;s pØokr ,oa blls lacafèkr ?kVuk,¡ eq[;r% 
ftEesnkj jghaA

	 		 mi;qZDr dFkuksa esa dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	dsoy 3

		  Which of the above have been defined as challenges 
under mission innovation?

	 (a)	 1, 2, 3 and 4 only	 (b)	 2, 3, 4 and 5 only

	 (c)	 1, 3, 4 and 5 only	 (d)	 All of the above

	 32.	 Consider the following statements with reference to 
the 'Seawead Mission'-

	 1.	 To setting up of a model farm for the cultivation 
of seaweed in more than one hectare area in 
the coastal areas of India.

	 2.	 Seeds will be supplied from other countries 
for large-scale cultivation of economically 
beneficial seaweed.

	 3.	 To establish processing technologies for edible 
seaweed according to the eating habits of the 
consumer.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 1 and 3 only	 (d)	 2 and 3 only

	 33.	 According to a study by the International Energy 
Agency Clean Coal Center, coal combustion is mainly 
responsible for excessive air pollution in India. In 
this context, consider the following statements-

	 1.	 According to this, coal-fired thermal power 
stations accounted for half of total sulfur 
dioxide, 30% of nitrogen and about 20% of 
total Particulate Matter (PM) emissions.

	 2.	 Transport and other industrial areas are second 
only to the areas responsible for air pollution 
after coal based thermal power stations.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 34.	 Consider the following statements with reference to 
'Global Climate Risk Index-2021'-

	 1.	 This index analyzes losses from the extreme 
climatic events.

	 2.	 India is the country most severely affected by 
extreme climatic events.

	 3.	 According to the index, the cyclone and related 
incidents were mainly responsible for loss of 
life and economic losses due to extreme 
weather events in the year 2019.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only

	 (c)	 2 only	 (d)	 3 only
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	 35.	dFku (A): ̂ Xysf'k;j ysd vkmVcLVZ ÝyM* ,slh ck<+ dks 
lan£Hkr djrk gS ftlesa Xysf'k;j ;k eksjSu (vlaxfBr eycs 
dk lap;) ls ty vpkud fuEuizokg {ks=kksa dh vksj 
izokfgr gksrk gSA

		 dkj.k (R): ÝyS'k ÝyM vkink ds fy;s ^Xysf'k;j ysd 
vkmVcLVZ ÝyM* ,d laHkkfor dkjd gSA

	 	uhps fn;s x, dwV dh lgk;rk ls lgh mÙkj pqfu;s%
	 (a)	 (A) rFkk (R) nksuksa lgh gSa vkSj (R), (A) dh lgh 

O;k[;k gSA

	 (b)	 (A) rFkk (R) nksuksa lgh gSa] fdarq (R), (A) dh lgh 
O;k[;k ugha gSA

	 (c)	 (A) lgh gS] fdarq (R) xyr gSA

	 (d)	 (A) xyr gS] fdarq (R) lgh gSA

	 36.	gky gh esa uhfr vk;ksx us ^fyfVy vaMeku }hi dk lrr~ 
fodkl&fo”ku nLrkos”k* ds uke ls ,d lrr~ fodkl 
;kstuk tkjh dh gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 bldk mís'; }hiksa dh j.kuhfrd vofLFkfr vkSj 
izkÑfrd fo'ks"krkvksa dk ykHk izkIr djuk gSA

	 2.	 ;kstuk ds rgr ,d uohu xzhuiQhYM rVh; uxj 
dh LFkkiuk dh tk,xhA

	 3.	 blesa fodkl dk;ks± dks pkj ”kksuksa esa foHkkftr fd;k 
x;k gSA

	 4.	 foeku ds lHkh izdkjksa ds fy;s ,d fo'oO;kih 
gokbZ vM~Mk bl ;kstuk ds dsanz esa gS] D;ksafd 
fodkl ds fy;s oSf'od gokbZ vM~Mk gksuk 
egÙoiw.kZ gSA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3

	 (c)	 dsoy 4	 (d)	dsoy 2 vkSj 3

	 37.	gky gh esa Hkkjr ds fy;s la;qDr jk"Vª }kjk tkjh fjiksVZ 
^,ftax okVj baizQkLVªDpj% ,u beft±x Xykscy fjLd* esa 
fdlds c<+rs [krjs ls lacafèkr ppkZ dh xbZ gS%

	 (a)	 tyok;q ifjorZu

	 (b)	 [kk| mRiknu esa deh

	 (c)	 izkÑfrd vkink

	 (d)	 iqjkus ck¡èk ;k rVcaèk

	 38.	gky gh esa dks;yk ea=kky; }kjk ^jk"Vªh; dks;yk 
lwpdkad&2020* tkjh fd;kA bl lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 lwpdkad dk mi;ksx jktLo fgLlsnkjh ds vkèkkj 
ij dks;yk [kkuksa dh okf.kfT;d uhykeh esa 'kq: 
fd;k x;kA

	 2.	 uhyke fd;s x, dks;yk CykWdksa ls izkIr jktLo 
dh ek=kk ds fuèkkZj.k esa ^jk"Vªh; dks;yk lwpdkad* 
vkèkkfjr iQkWeZwys dk mi;ksx gksxkA

	 35.	 Statement (A): 'Glacier Lake Outburst Flood' refers 
to a flood in which water from a glacier or moraine 
(accumulation of unorganized debris) suddenly flows 
towards low-lying areas.

		  Reason (R): The 'Glacier Lake Outburst Flood' is a 
possible factor for the flash flood disaster.

		  Select the correct answer using the code given below:
	 (a)	 (A) and (R) are both correct and (R) is the 

correct explanation of (A).

	 (b)	 (A) and (R) are both correct, but (R) is not the 
correct explanation of (A).

	 (c)	 (A) is true, but (R) is false.

	 (d)	 (A) is false, but (R) is true.

	 36.	 Recently, NITI Aayog has released a sustainable 
development plan called 'Sustainable Development-
Vision Document of Little Andaman Island'. In this 
context, consider the following statements:

	 1.	 It aims to gain advantage of the strategic 
location and natural features of the islands.

	 2.	 A new Greenfield coastal town will be 
established under the scheme.

	 3.	 The development works are divided into four 
zones in this.

	 4.	 A worldwide airport for all types of aircraft is 
at the heart of this scheme, as it is important 
to have a global airport for development.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only

	 (c)	 4 only	 (d)	 2 and 3 only

	 37.	 Recently, the United Nations released report on 
'Aging Water Infrastructure: An Emerging Global 
Risk' for India discusses the growing threat of:

	 (a)	 Climate change

	 (b)	 Reduction in food production

	 (c)	 Natural disaster

	 (d)	 Old dam or embankment

	 38.	 Recently the Ministry of Coal has released the 
'National Coal Index -2020'. In this context, consider 
the following statements-

	 1.	 The index has been used for commercial 
auction of coal mines on the basis of revenue 
share.

	 2.	 The 'National Coal Index' based formula was 
used in determining the amount of revenue 
received from auctioned coal blocks.
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	 3.	 ^jk"Vªh; dks;yk lwpdkad* dk vkèkkj foÙkh; o"kZ 
2018–19 gSA

	 	mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\ 
	 (a)	 dsoy 1 vkSj 2 	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	dsoy 2 vkSj 3

	 39.	ikjxeu mUeq[k fodkl ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ikjxeu mUeq[k fodkl dk vk'k; Hkwfe mi;ksx 
vkSj ifjogu ;kstuk dks ,dhÑr djuk gSA

	 2.	 bldk mís'; vR;fèkd tula[;k ?kuRo okys 'kgjksa 
dks ;kstukc¼ rjhds ls èkkj.kh; 'kgjh fodkl dsanzksa 
ds :i esa fodflr djuk gSA

	 3.	 ikjxeu mUeq[k fodkl esa vke rkSj ij ,d dsanzh; 
ikjxeu LVkWi (tSls fd ,d Vªsu LVs'ku] ykbV jsy 
;k cl LVkWi) 'kkfey gksrk gS] tks ,d mPp ?kuRo 
okys {ks=k ls f?kjk gksrk gSA

	 	mi;qZDr esa ls dkSu lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2 	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3 

	 40.	^Hkkjrh; HkwoSKkfud losZ{k.k* us ns'k esa vUos"k.k xfrfofèk;ksa 
esa rsth ykus ds fy;s ^us'kuy cslykbu ft;kslkbal MsVk 
tsujs'ku izksxzke* 'kq: fd;k gSA bl lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 bl ;kstuk ds rgr o"kZ 2030 rd jk"Vªh; Lrj ds 
dqN izeq[k Hkw&losZ{k.kksa dks iwjk fd;k tk,xkA

	 2.	 Hkkjrh; HkwoSKkfud losZ{k.k us ns'k ds lHkh ft;kslkbal 
MsVk dks dsanzhÑr djus ds fy;s ̂ us'kuy ft;kslkbal 
MsVk fjikWf”kVjh igy* 'kq: dh gSA

	 	 mi;qZDr dFkuksa esa ls dkSu lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 41.	gky gh esa vkWDliQSe }kjk ^n bubDokfyVh ok;jl fjiksVZ 
&2021* baVjus'kuy tkjh dh xbZA bl lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 Hkkjr ds vukSipkfjd {ks=k ds dk;Zcy ij dksfoM-19 
dk lcls cqjk izHkko iM+k] D;ksafd bl {ks=k dh 122 
fefy;u ukSdfj;ksa esa ls yxHkx 75% lekIr gks 
xbZA

	 2.	 tSls&tSls f'k{kk dks vkWuykbu fd;k x;k] Hkkjr us 
vlekurkvksa ds u, fodjky :i ^fMftVy 
fMokbM* dks ns[kkA

	 3.	 efgykvksa esa csjks”kxkjh dh nj 15% ls c<+dj 35% 
gks xbZA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1

	 (c)	 dsoy 3	 (d)	dsoy 2 vkSj 3

	 3.	 The base financial year of 'National Coal Index' 
is 2018-19.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 2 and 3 only
	 39.	 Consider the following statements with reference to 

the 'Transit-Oriented Development':
	 1.	 Transit oriented development refers to 

integrating land use and transportation 
planning.

	 2.	 It aims to develop cities with high population 
density as sustainable urban development 
centers in a planned manner.

	 3.	 Transit oriented development usually involves 
a central transit stop (such as a train station, 
light rail or bus stop); which is surrounded by 
a high density area.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 40.	 The Geological Survey of India has launched the 

'National Baseline Geoscience Data Generation 
Program' to accelerate exploration activities in the 
country. In this context, consider the following 
statements-

	 1.	 Under the scheme, some major national-level 
land surveys will be completed by the year 
2030.

	 2.	 The Geological Survey of India has launched 
the 'National Geoscience Data Repository 
Initiative' to centralize all the geoscience data 
in the country.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 41.	 Recently a report titled 'The Inequality Virus 

Report-2021' has been released by Oxfam. In this 
context, consider the following statements-

	 1.	 Covid-19 had the worst impact on India's 
informal sector workforce, as about 75% of 
the 122 million jobs in the sector were lost.

	 2.	 As education was made online, India saw the 
digital divide as a new form of inequality.

	 3.	 The rate of unemployment among women 
increased from 15% to 35%.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 1 and 2 only	 (b)	 1 only
	 (c)	 3 only	 (d)	 2 and 3 only
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	 42.	gky esa lkekftd U;k; vkSj vfèkdkfjrk ea=kky; us ekufld 

LokLF; lacafèkr eqíksa vkSj dksfoM&19 ladV dks ns[krs gq, 

ekufld LokLF; lalkèkuksa rd lcdh igq¡p lqfuf'pr 

djus gsrq ,d Vksy&izQh gsYiykbu ^fdj.k* dh 'kq#vkr 

dhA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;sA

	 1.	 ea=kky; ls izkIr vk¡dM+ksa ds vuqlkj ^fdj.k 

gsYiykbu* ij dkWy djus okyksa esa ls 70% dkWyj 

iq#"k FksA

	 2.	 ^fdj.k gsYiykbu* ij dkWy djus okyksa dks izkjafHkd 

tk¡p] izkFkfed fpfdRlk] euksoSKkfud lgk;rk] 

ladV izcaèku] ekufld dY;k.k] O;ogkj lacaèkh 

fopyuksa dks jksdus] vkRe?kkrh fopkjksa dks jksdus 

vkfn ds lacaèk esa lgk;rk iznku dh tkrh gSA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 43.	^fnO;kaxtu vfèkdkj vfèkfu;e&2016 ^ds lanHkZ esa 

fuEufyf[kr esa ls dkSu&lk@ls dFku lgh ugha gS@gSa\

	 1.	 csapekdZ fodykaxrk dk vk'k; vfèkfu;e ds rgr 

ekU;rk izkIr fdlh Hkh izdkj dh fodykaxrk ls 

de ls de 40% izHkkfor gksus ls gSA

	 2.	 blds rgr ljdkjh ukSdfj;ksa esa fodykax yksxksa ds 

fy;s vkj{k.k dks 4% vkSj mPp f'k{kk laLFkkuksa esa 

c<+kdj 5% dj fn;k gSA

	 3.	 csapekdZ fodykaxrk ls ihfM+r 6 ls 18 o"kZ rd ds 

cPpksa ds fy;s fu%'kqYd f'k{kk dh O;oLFkk dh xbZ 

gSA

	 		 dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	1, 2 vkSj 3

	 44.	fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 loksZPp U;k;ky; dks vuqPNsn 139A ds rgr nks 

;k nks ls vfèkd mPp U;k;ky;ksa ds le{k yafcr 

leku ;k dkiQh gn rd leku dkuwu ls tqM+s ekeys 

dks vius ;gk¡ LFkkukarfjr djus dh 'kfDr gSA

	 2.	 gky gh esa loksZPp U;k;ky; us gfj;k.kk vkSj mÙkj 

izns'k mPp U;k;ky;ksa esa fookg ds fy;s ^leku 

U;wure vk;q* ?kksf"kr djus ds yafcr ekeyksa dks 

vius ;gk¡ gLrkarfjr djus dh ,d ;kfpdk dh 

tk¡p dk iQSlyk fd;k gSA 

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 42.	 Recently the Ministry of Social Justice and 
Empowerment launched a toll-free helpline 'Kiran' 
to ensure access to mental health resources in view 
of mental health issues and the Covid-19 crisis. In 
this context, consider the following statements.

	 1.	 According to data received from the Ministry, 
70% of the callers on the 'Kiran Helpline' were 
male.

	 2.	 Callers on the 'Kiran Helpline' are provided 
with assistance in connection with early 
screening, first aid, psychological support, 
crisis management, mental well-being, 
preventing behavioural deviations, preventing 
suicidal thoughts, etc.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 43.	 Which of the following statement(s) is/are NOT correct 
in the context of "Disability Rights Act-2016"?

	 1.	 Benchmark disability refers to having at least 
40% affected by any type of disability 
recognized under the Act.

	 2.	 Under this, reservation for people with 
disabilities in government jobs has been 
increased to 4% and higher education 
institutions to 5%.

	 3.	 Free education has been arranged for children 
aged 6 to 18 years suffering from benchmark 
disability.

		  Code:
	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 1, 2 and 3

	 44.	 Consider the following statements-
	 1.	 The Supreme Court has the power under Article 

139A to transfer a case relating to the similar 
or substantially similar law, pending before 
two or more High Courts.

	 2.	 Recently, the Supreme Court has decided to 
examine a petition to transfer cases pending in 
the Haryana and Uttar Pradesh High Courts 
declaring 'equal minimum age' for marriage.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 45.	fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 gky gh esa pkSjh&pkSjk dkaM dh 'krkCnh dks fpfÉr 
djus ds fy;s izèkkuea=kh }kjk ,d Mkd fVdV tkjh 
fd;k x;kA

	 2.	 pkSjh&pkSjk ?kVuk ls nks fnu igys] Hkxoku vghj 
uked ,d lsokfuo`Ùk lsuk ds flikgh ds usr`Ro esa 
vlg;ksx vkanksyu esa Hkkx ysus okys Lo;alsodkas us 
ck”kkj esa mPp [kk| dherksa vkSj 'kjkc dh fcØh 
ds f[kykiQ fojksèk trk;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1, u gh 2

	 46.	^Jh ukjk;.k xq#* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%&

	 1.	 bUgksaus tkfrxr vU;k; ds f[kykiQ ^lHkh ds fy;s 
,d tkfr] èkeZ] ,d bZ'oj* dk izfl¼ ukjk fn;kA

	 2.	 v}Sr nhfidk] vkJe] FksojIikfFkadaxy budh dqN 
izeq[k iqLrdsa gSaA

	 3.	 ^ukWV eSuh&cV ou]* budh dforkvksa dk vaxzsth 
vuqokn gSA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1

	 (c)	 dsoy 2	 (d)	1, 2 vkSj 3

	 47.	gky gh esa izèkkuea=kh us nks egÙoiw.kZ ,sfrgkfld LFkkuksa] 
^tsjsaxk iksFkj* ,oa ^<sfd;ktqyh Vkmu* dk nkSjk fd;k] ;s 
LFkku vofLFkr gSa&

	 (a)	 vle

	 (b)	 v#.kkpy izns'k

	 (c)	 flfDde

	 (d)	 es?kky;

	 48.	^FkksyikokDdwFkq* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 ;g dsjy dh ,d ikjaifjd eafnj dyk gS] tks 
iyDdM+ vkSj blds iM+kslh {ks=kksa ls lacafèkr gSA

	 2.	 FkksyikokDdwFkq ,d izdkj dh Nk;k dBiqryh ukVd 
gSA

	 3.	 gky gh esa ,d jkscksV }kjk FkksyikokDdwFkq esa ,d 
peM+s dh Nk;k dBiqryh rS;kj dh xbZA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2

	 (b)	 dsoy 2

	 (c)	 dsoy 3

	 (d)	 1, 2 vkSj 3

	 45.	 Consider the following statements-
	 1.	 Recently a postage stamp was issued by the 

Prime Minister to mark the century of the 
Chauri-Chaura incident.

	 2.	 Two days before the Chauri Chaura incident, 
volunteers who took part in the non-cooperation 
movement led by a retired army soldier named 
Bhagwan Ahir protested against high food 
prices and liquor sales in the market.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 46.	 Consider the following statements with reference to 
'Shri Narayana Guru': -

	 1.	 He gave the famous slogan 'One caste, one 
religion, one God for all' against caste 
injustice.

	 2.	 Advaita Deepika, Ashram, Thevara Pathigangal 
are some of his major works.

	 3.	 'Not Many-But One,' is an English translation 
of his poems.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 1 only

	 (c)	 2 only	 (d)	 1, 2 and 3

	 47.	 Recently, the Prime Minister visited two important 
historical places, 'Jerenga Pothar' and 'Dhekiajuli 
Town', which is located at-

	 (a)	 Assam

	 (b)	 Arunachal Pradesh

	 (c)	 Sikkim

	 (d)	 Meghalaya

	 48.	 Consider the following statements with reference to 
'Tholpavakoothu'.

	 1.	 It is a traditional temple art of Kerala, which 
belongs to Palakkad and its neighboring areas.

	 2.	 Tholpavakoothu is a type of shadow puppet 
drama.

	 3.	 Recently a leather shadow puppet was created 
by a robot in Tholpavakoothu.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only

	 (b)	 2 only

	 (c)	 3 only

	 (d)	 1, 2 and 3
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	 49.	izkphu laLekjd rFkk iqjkrÙoh; LFky vkSj vo'ks"k (la'kksèku 

,oa fofèkekU;dj.k) vfèkfu;e 2010 ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl vfèkfu;e ds rgr ;g izkoèkku gS fd ,,lvkbZ& 

lajf{kr Lekjdksa ds lehi fuekZ.k xfrfofèk dks 

fofu;fer djus ds fy;s Lekjd&fof'k"V fojklr 

mifofèk rS;kj dh tkuh pkfg;sA

	 2.	 gky gh esa vksfM'kk ds iqjh esa fLFkr Jh txUukFk 

eafnj ds fy;s jk"Vªh; Lekjd izkfèkdj.k }kjk tkjh 

fd;s x, elkSnk fojklr mi&fu;e dks okil ys 

fy;k x;kA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa%

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 50.	^lhek {ks=k fodkl dk;ZØe* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dht;s%

	 1.	 bldk eq[; mís'; varjkZ"Vªh; lhek ds ikl fLFkr 

nwjnjkt vkSj nqxZe {ks=kksa esa jgus okys yksxksa dh 

fo'ks"k fodklkRed ”k:jrksa dks iwjk dj cqfu;knh 

<k¡ps dk fodkl djuk gSA

	 2.	 ;g ;kstuk ,d dksj {ks=k dh dsanz izk;ksftr ;kstuk 

gS ftlesa 16 jkT;ksa vkSj 2 dsanz'kkflr izns'kksa dks 

'kkfey fd;k x;k gSA

	 3.	 blesa varjkZ"Vªh; lhek ls 0–20 fdeh- dh nwjh ds 

Hkhrj fLFkr lHkh tux.kuk xk¡oksa@dLcksa] v¼Z&'kgjh 

vkSj 'kgjh {ks=kksa dks doj fd;k tkrk gSA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\ 

	 (a)	 dsoy 3	 (b)	dsoy 1 vkSj 2 

	 (c)	 dsoy 2 vkSj 3	 (d)	dsoy 2

	 51.	jk"Vªh; 'kSf{kd vuqlaèkku ,oa izf'k{k.k ifj"kn }kjk tkjh 

dh xbZ ubZ ̂ Ldwy cSx uhfr&2020* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s&

	 1.	 bl uhfr ds vuqlkj d{kk ,d ls nl rd ds Nk=kksa 

dk Ldwy cSx muds 'kjhj ds o”ku ds 10% ls 
vfèkd ugha gksuk pkfg;sA

	 2.	 d{kk nks rd ds Nk=kksa dks izfrfnu ,d ?kaVs dk 

gkseodZ fn;k tkuk pkfg;sA

	 3.	 gky gh esa f'k{kk funs'kky; us ubZ ^Ldwy cSx 

uhfr&2020* dk ikyu djus ds fy;s lHkh Ldwyksa 

dks ,d ifji=k tkjh fd;k gSA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 2 

	 (c)	 dsoy 1	 (d)	dsoy 2 vkSj 3

	 49.	 Consider the following statements with reference to 
the Ancient Monuments and Archaeological Sites and 
Remains (Amendment and Validation) Act, 2010:

	 1.	 There is a provision under this Act that 
memorial-specific heritage bylaws should be 
devised to regulate construction activity near 
ASI-protected monuments.

	 2.	 Recently, the draft Heritage Bye-laws issued 
by the National Monuments Authority for Shri 
Jagannath Temple located in Puri, Odisha were 
withdrawn.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 50.	 Consider the following statements with reference to 
'Border Area Development Program':

	 1.	 Its main objective is to develop the infrastructure 
by meeting the special developmental needs 
of the people living in remote and inaccessible 
areas located near the international border.

	 2.	 This scheme is a centrally sponsored scheme 
for core areas covering 16 states and 2 union 
territories.

		  3.	It covers all census villages / towns, semi-
urban and urban areas located within a distance 
of 0-20 km from the international border.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only

	 (c)	 2 and 3 only	 (d)	 2 only

	 51.	 Consider the following statements with reference to 
the new 'School Bag Policy-2020' issued by the 
National Council of Educational Research and 
Training-

	 1.	 According to this policy, school bags of 
students from class one to ten should not 
exceed 10% of their body weight.

	 2.	 Students up to class two should be given one 
hour of homework per day.

	 3.	 Recently the Directorate of Education has 
issued a circular to all schools to follow the 
new 'School Bag Policy -2020'.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 3 only	 (b)	 2 only

	 (c)	 1 only	 (d)	 2 and 3 only
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	 52.	^Je'kfDr iksVZy* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 gky gh esa dsanzh; tutkrh; dk;Z ea=kky; us izoklh 
Jfedksa ds fy;s jkT; vkSj jk"Vªh; Lrj ds dk;ZØeksa 
ds fuekZ.k dks lqpk: cukus ds fy;s ,d jk"Vªh; 
izoklu lgk;rk iksVZy ^Je'kfDr* dh 'kq#vkr 
dh gSA

	 2.	 bl iksVZy dh 'kq#vkr vkfnoklh izoklh Jfedksa 
ls lacafèkr MsVk ,d=k djus vkSj ml MsVk dks ekStwnk 
dY;k.kdkjh ;kstukvksa ls tksM+us ds fy;s dh xbZ gSaA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 53.	dksfPp&eaxyq: izkÑfrd xSl ikbiykbu ifj;kstuk ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 450 fdeh- yach bl xSl ikbiykbu dk fuekZ.k 
^xSl vFkkWfjVh vkWiQ bafM;k fyfeVsM* }kjk fd;k 
x;k gSA

	 2.	 bldh izfrfnu ifjogu {kerk yxHkx 12 fefy;u 
ehfVªd ekud ?kuehVj gSA

	 3.	 bl izkÑfrd xSl ikbiykbu ds ekè;e ls dksfPp 
fLFkr rjyhÑr izkÑfrd xSl jhxSlhfiQds'ku V£euy 
ls eaxyq: esa izkÑfrd xSl ys tkbZ tk,xhA

	 		 mi;qZDr dFkuksa esa ls dkSu ls dFku lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 

	 (c)	 dsoy 3	 (d)	mijksDr lHkh

	 54.	^opqZvy ,xzh&gSdFkkWu&2020* ds lanHkZ esa fuEufyf[kr esa 
ls dkSu&lk dFku lgh ugha gS\

	 (a)	 bl dk;ZØe ds ekè;e ls Hkkjr ds ckSf¼d O;fDr;ksa 
jpukRed LVkVZ&vIl vkSj LekVZ buksosVlZ ds lkFk 
m|ksx ,oa ljdkj ds lcls egÙoiw.kZ fgrèkkjdksa 
dks ,d lkFk ,d eap ij ykus dk iz;kl fd;k 
tk,xkA

	 (b)	 Ñf"k e'khuhdj.k] ifj'kq¼rk Ñf"k] vkiw£r Ük`a[kyk 
,oa [kk| izkS|ksfxdh vkSj gfjr mQtkZ vkfn ij uohu 
fopkjksa dks Lohdkj fd;k tk,xkA

	 (c)	 ;g dk;ZØe foKku vkSj izkS|ksfxdh ea=kky; }kjk 
lapkfyr fd;k x;kA

	 (d)	 blesa vafre 24 fotsrkvksa dks buD;wcs'ku liksVZ] 
Vsd ,aM fctusl ijke'kZ vkSj dbZ vU; ykHkksa ds 
lkFk ,d yk[k #i, dk udn iqjLdkj fn;k tk,xkA

	 55.	eksuik gLrfu£er dkxt ds iqu#¼kj gsrq gky gh esa [kknh 
xzkeks|ksx vk;ksx }kjk iz;kl fd;k x;kA ;g fdl jkT; ls 
lacafèkr gS\

	 (a)	 vle	 (b)	v#.kkpy izns'k

	 (c)	 rfeyukMq	 (d)	dsjy

	 52.	 Consider the following statements with reference to 
'Shram Shakti Portal'.

	 1.	 Recently Union Ministry of Tribal Affairs has 
launched a National Migration Assistance 
Portal 'Shram Shakti' to streamline the creation 
of state and national level programs for 
migrant workers.

	 2.	 This portal has been started to collect data 
related to tribal migrant workers and link that 
data to existing welfare schemes.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 53.	 Consider the following statements with reference to 

the Kochi-Mangaluru natural gas pipeline project:
	 1.	 This 450 km long gas pipeline has been 

constructed by the Gas Authority of India 
Limited.

	 2.	 Its daily transport capacity is about 12 million 
metric standard cubic meters.

	 3.	 Through this natural gas pipeline, the liquefied 
natural gas regasification terminal at Kochi 
will carry natural gas to Mangaluru.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 All of the above
	 54.	 Which of the following statement is NOT correct 

with reference to 'Virtual Agri-Hackathon -2020'?
	 (a)	 Through this program, efforts will be made to 

bring together the most important stakeholders 
of industry and government with intellectual 
startups of India, creative start-ups and smart 
innovators.

	 (b)	 New ideas on agricultural mechanization, 
precision farming, supply chain and food 
technology and green energy etc. will be 
accepted.

	 (c)	 The event was conducted by the Ministry of 
Science and Technology.

	 (d)	 In this, the final 24 winners will be given a 
cash prize of one lakh rupees along with 
incubation support, tech and business 
consultation and many other benefits.

	 55.	 An attempt was recently made by the Khadi Village 
Industries Commission to revive Monpa handmade 
paper. It is related to which of the following state?

	 (a)	 Assam	 (b)	 Arunachal Pradesh
	 (c)	 Tamil Nadu	 (d)	 Kerala
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	 56.	^fdlku jsy* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ns'k Hkj ds fdlkuksa rFkk cktkjksa dks tksM+us ds fy;s 

Ñf"k vkSj fdlkuksa dks le£ir igyh ^fdlku jsy* 

vxLr 2020 esa 'kq# dh xbZA

	 2.	 gky gh esa ^100oha fdlku jsy* lsok dks egkjk"Vª 

ds lksykiqj f”kys ds laxksyk ls if'pe caxky ds 

'kkyhekj rd 'kq# dh xbZA

	 3.	 mldk mís'; ns'k dh vkiw£r  Ük`a[kyk dks vkèkqfud 

cukuk gSA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3 

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 57.	gfjr jk"Vªh; jktekxZ xfy;kjk ifj;kstuk ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 jkT; ljdkjksa rFkk ;w-,u-bZ-ih- us gfjr jk"Vªh; jktekxZ 

xfy;kjk ifj;kstuk ds dk;kZUo;u gsrq 500 fefy;u 
MkWyj dh ,d ifj;kstuk ij gLrk{kj fd;s gSaA

	 2.	 ;g ifj;kstuk ^jk"Vªh; gfjr jktekxZ fe'ku* ds 

fØ;kUo;u rFkk gfjr ,oa lqjf{kr ifjogu ds 

izkoèkku dk leFkZu djrh gSA

	 3.	 bl ifj;kstuk dk mís'; p;fur jkT;ksa esa lqjf{kr 

,oa gfjr jk"Vªh; jktekxZ xfy;kjksa dk izn'kZu djuk 

vkSj gfjr ,oa lqjf{kr izkS|ksfxfd;ksa ds {ks=k esa {kerk 

dk foLrkj djuk Hkh gSA

	 		 mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\ 

	 (a)	 dsoy 1 vkSj 2

	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3

	 (d)	 mijksDr esa ls dksbZ ugha

	 58.	^izQsV fctusl MsoyiesaV iksVZy* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s&

	 1.	 ;g iksVZy jsy ea=kky; }kjk jsyos ds eky <qykbZ 

O;olk; dks c<+kok nsus ds fy;s 'kq: fd;k x;k gSA

	 2.	 bldk mís'; ekuoh; izfØ;kvksa ds LFkku ij 

vkWuykbu izfØ;k 'kq: djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa

	 (d)	 u rks 1, u gh 2

	 56.	 Consider the following statements with reference to 
'Kisan Rail':

	 1.	 The first 'Kisan Rail' dedicated to agriculture 
and farmers was launched in August 2020 to 
connect farmers and markets across the 
country.

	 2.	 Recently '100th Farmers Rail' service was 
introduced from Sangola in Solapur district of 
Maharashtra to Shalimar in West Bengal.

	 3.	 Its objective is to modernize the country's 
supply chain.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 57.	 Consider the following statements with reference to 
the Green National Highway Corridor Project-

	 1.	 The state governments and UNEP have signed 
a $ 500 million project for the implementation 
of the Green National Highway Corridor 
project.

	 2.	 This project supports the implementation of 
'National Green Highway Mission' and the 
provision of green and safe transport.

	 3.	 The objective of this project is to demonstrate 
safe and green national highway corridors in 
selected states and also to expand capacity in 
the field of green and safe technologies.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only

	 (b)	 2 and 3 only

	 (c)	 1 and 3 only

	 (d)	 None of the above

	 58.	 Consider the following statements with reference to 
'Freight Business Development Portal'-

	 1.	 This portal has been launched by the Ministry 
of Railways to promote the freight business of 
railways.

	 2.	 It aims to introduce online processes in place 
of manual processes.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only

	 (b)	 2 only

	 (c)	 Both 1 and 2

	 (d)	 Neither 1 nor 2
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	 59.	gky gh esa Hkkjr ljdkj us ,d vkHkklh f[kykSuk gSdFkkWu 
^VkW;dFkkWu&2021* ykWUp fd;k gSA fuEufyf[kr esa ls dkSu 
blds mís';ksa esa 'kkfey gSa\

	 1.	 Hkkjrh; ewY; iz.kkyh ds vkèkkj ij uohu f[kykSuksa 
dh voèkkj.kk dk fodkl djukA

	 2.	 Hkkjr dks ,d oSf'od f[kykSuk fofuekZ.k dsanz ds 
:i esa c<+kok nsukA

	 3.	 cPpksa esa ldkjkRed O;ogkj vkSj vPNs ewY;ksa dks 
c<+kok nsukA

	 4.	 cPpksa dks Hkfo"; esa jks”kxkj gsrq izf'k{k.k nsukA

	 		 dwV dh lgk;rk ls lgh mÙkj pqfu;s%

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1 vkSj 2	 (d)	mijksDr lHkh

	 60.	gky gh esa izèkkuea=kh us ohfM;ks dkWUizQsaflax ds ekè;e ls 
^nkoksl laokn* dks lacksfèkr fd;kA bl lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g nkoksl (fLoV~”kjySaM) esa vk;ksftr gksus okyh 
fo'o cSad dh ok£"kd cSBd gSA

	 2.	 bl cSBd esa oSf'od {ks=kh; vkSj m|ksx ls lacafèkr 
,tsaMksa dks vkdkj nsus ds fy;s nqfu;k ds 'kh"kZ 
usrkvksa }kjk Hkkx fy;k tkrk gSA

	 3.	 ^nkoksl laokn&2021* dksjksuk ok;jl egkekjh dh 
lekfIr ds ckn ^n xzsV jhlsV* igy dh 'kq#vkr 
dks fpfÉr djrk gSA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\ 
	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	dsoy 1 vkSj 2

	 61.	iwoksZÙkj {ks=k fodkl ea=kky; ds ̂ ukWFkZ bZLV osapj iQaM ;kstuk* 
dk eq[; iQksdl fdu {ks=kksa esa 'kkfey m|eksa ij gS\

	 1.	 [kk| izlaLdj.k

	 2.	 gsYFk ds;j

	 3.	 i;ZVu

	 4.	 lsokvksa dk i`FkDdj.k

	 5.	 vkbZVh {ks=k

	 		 dwV dh lgk;rk ls lgh mÙkj pqfu;s&

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 1, 3, 4 vkSj 5

	 (c)	 dsoy 2, 3, 4 vkSj 5	 (d)	mijksDr lHkh

	 62.	^Ý;wpj bUosLVesaV bfuf'k,fVo iQksje* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fj;kn (lmQnh vjc) esa blds pkSFks laLdj.k dk 
vk;kstu fd;k x;kA

	 2.	 bldk mís'; ;g irk yxkuk gS fd ljdkj vkSj 
m|ksx fdl izdkj LokLF; lsok rd igq¡p c<+k 
ldrs gSaA

	 59.	 Recently the Government of India has launched a 
virtual toy hackathon "Toycathon-2021". Which of 
the followings are included in its objectives-

	 1.	 To develop the concept of new toys based on 
the Indian value system.

	 2.	 To promote India as a global toy manufacturing 
center. 

	 3.	 To promote positive behavior and good values 
in children.

	 4.	 To train children for future employment.
		  Choose the correct answer using the code given 

below:
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1 and 2 only	 (d)	 All of the above
	 60.	 Recently the Prime Minister addressed the 'Davos 

Dialogue' through video conferencing. In this context, 
consider the following statements:

	 1.	 It is an annual World Bank meeting held in 
Davos (Switzerland).

	 2.	 In this meeting, discussions are held by top 
leaders of the world to shape the agenda related 
to global, regional and industry.

	 3.	 'Davos Dialogue-2021' marks the beginning 
of 'The Great Reset' initiative after the end of 
the corona virus epidemic.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1 and 2 only
	 61.	 The main focus of 'North East Venture Fund Scheme' 

of Ministry of Development of North Eastern Region 
is on the enterprises involved in which of the 
following areas?

	 1.	 Food Processing
	 2.	 Health Care 
	 3.	 Tourism 
	 4.	 Segregation of Services 
	 5.	 IT Sector
		  Choose the correct answer using the code given 

below-; 
	 (a)	 1, 2 and 3 only	 (b)	 1, 3, 4 and 5 only
	 (c)	 2, 3, 4 and 5 only	 (d)	 All of the above
	 62.	 Consider the following statements with reference to 

'Future Investment Initiative Forum':
	 1.	 Its fourth edition was held in Riyadh (Saudi 

Arabia).
	 2.	 Its purpose is to find out how the government 

and industry can increase access to healthcare.
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	 3.	  Ý;wpj bUosLVesaV bfuf'k,fVo dks O;kid :i ls 
^nkoksl bu n MstVZ* ds :i esa of.kZr fd;k 
x;k gSA 

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	mijksDr lHkh

	 63.	^U;w;kWdZ dUosa'ku* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 bl dUosa'ku dk izkFkfed mís'; ;g lqfuf'pr 
djuk gS fd fons'kh vkSj xSj&?kjsyw eè;LFkrk lacaèkh 
fu.kZ;ksa dks ykxw djus esa fdlh Hkh izdkj dk HksnHkko 
ugha fd;k tkuk pkfg;sA

	 2.	 bls ^U;w;kWdZ vkW£cVªs'ku dUosa'ku* ds uke ls Hkh 
tkuk tkrk gSA 

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 64.	gky gh esa la;qDr jkT; vesfjdk us fdu jk"Vªksa ds iwoZ@
orZeku iz/kueaf=k;ksa dks ^yhtu vkWiQ esfjV* vokMZ ls 
lEekfur fd;k gS\

	 1.	 Hkkjr	 2.	 tkiku

	 3.	 HkwVku	 4.	 vkWLVªsfy;k

	 5.	 baMksusf'k;k

	 		 dwV dh lgk;rk ls lgh mÙkj pqfu;s\

	 (a)	 dsoy 1, 2 vkSj 4 

	 (b)	 dsoy 1, 2 vkSj 3

	 (c)	 dsoy 2, 3 vkSj 5

	 (d)	 dsoy 1, 3 vkSj 4

	 65.	^n ykbu* 'kgj ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 lmQnh vjc esa ,d Ý;wpj flVh ^n ykbu* dk 
vukoj.k fd;k x;k gSA

	 2.	 bl u, 'kgj esa fdlh Hkh rjg dk dkcZu mRltZu 
ugha gksxkA lkFk gh bl 'kgj esa lM+d vkSj dkjsa 
Hkh ugha gksaxhA

	 3.	 bl 'kgj ds fuekZ.k dk izeq[k mís'; ;g fn[kkuk 
gS fd fdl izdkj euq"; vius x`g i`Foh ds lkFk 
lkeatL; cukdj jg ldrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2

	 (b)	 dsoy 1 

	 (c)	 dsoy 3

	 (d)	 mijksDr lHkh

	 3.	 The Future Investment Initiative is widely 
described as 'Davos in the Desert'.

		  Which of the statement(s) given above is / are correct?

	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 All of the above

	 63.	 Consider the following statements with reference to 
the 'New York Convention':

	 1.	 The primary objective of this Convention is to 
ensure that there should be no discrimination 
whatsoever in implementing foreign and non-
domestic arbitration decisions.

	 2.	 It is also known as 'New York Arbitration 
Convention'.

		  Which of the statement(s) given above is / are correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 64.	 Recently the United States has awarded 'Legion of 
Merit' to which of the following nations?

	 1.	 India	 2.	 Japan

	 3.	 Bhutan	 4.	 Australia

	 5.	 Indonesia

		  Select the correct answer using the code given below: 

	 (a)	 1, 2 and 4 only

	 (b)	 1, 2 and 3 only

	 (c)	 2, 3 and 5 only

	 (d)	 1, 3 and 4 only

	 65.	 Consider the following statements with reference to 
'The Line' city-

	 1.	 A Future City 'The Line' has been unveiled in 
Saudi Arabia.

	 2.	 There will be no carbon emission of any kind 
in this new city. Also, there will be no roads 
and cars in this city.

	 3.	 The main objective of the construction of this 
city is to show how man can live in harmony 
with his home earth.

		  Which of the statement(s) given above is / are correct?

	 (a)	 1 and 2 only

	 (b)	 1 only

	 (c)	 3 only

	 (d)	 All of the above
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	 66.	^Xykscy vyk;al iQkWj oSDlhal ,aM bE;wukbts'ku (GAVI) 
ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gky gh esa MkW- g"kZoèkZu dks Xykscy vyk;al iQkWj 
oSDlhal ,aM bE;wukbts'ku }kjk GAVI cksMZ ds lnL; 
ds :i esa ukfer fd;k x;k gSA

	 2.	 Hkkjr ds ikl bldh lnL;rk 1 tuojh 2021 ls 
31 fnlacj] 2023 rd jgsxhA

	 3.	 Hkkjr ls iwoZ bldh lnL;rk czk”khy ds ikl FkhA

	 	fuEufyf[kr dwV dh lgk;rk ls lgh mÙkj pqfu;s&

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 67.	^Hkkjrh; varjkZ"Vªh; foKku egksRlo&2020* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;sA 

	 1.	 bldh 'kq#vkr o"kZ 2011 esa dh xbZ FkhA

	 2.	 bl egksRlo dk y{; vke turk dks foKku ds 
egÙo ls rFkk bl rF; ls voxr djkuk gS fd 
foKku izkS|ksfxdh] bathfu;fjax vkSj xf.kr (STEM) 
fdl izdkj gekjs thou dks csgrj cukus gsrq ljy 
lekèkku izLrqr djrs gSaA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 u gh 2

	 68.	^ekWd ,x* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 vkbZ-vkbZ-Vh- fnYyh ds oSKkfudksa dh ,d Vhe us 
^IykaV vkèkkfjr ekWd ,x* ds uokpkj ds fy;s 
;w-,u-Mh-ih- ,DlysjsVj ySc bafM;k }kjk vk;ksftr 
,d uokpkj izfr;ksfxrk thrhA

	 2.	 ekWd ,x dk fodkl cgqr gh ljy rjhds ls Ñf"k 
iQlyksa ls fd;k x;k gS] ftlesa izksVhu ik;k tkrk gSA

	 3.	 ekWx ,x dk Lokn rFkk iks"k.k lacaèkh fo'ks"krk iksYVªh 
vaMs ds leku gSA

	 4.	 ekWd ,x 'kq¼ 'kkdkgkjh yksxksa dh izksVhu vko';drkvksa 
dh iw£r djrk gSA

	 		 mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1, 3 vkSj 4	 (d)	mijksDr lHkh

	 69.	fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 Hkkjr] ^gkbijlksfud foaM Vuy* ijh{k.k lqfoèkk 
okyk igyk ns'k cu x;k gSA

	 2.	 gkbijlksfud foaM] Vuy] izS'kj oSD;we lapkfyr 
,d vR;kèkqfud iz.kkyh gS tks eSd ik¡p ls eSd 
ckjg dk vuqdj.k djrh gSA

	 66.	 Consider the following statements with reference to 
'Global Alliance for Vaccines and Immunization' 
(GAVI):

	 1.	 Recently Dr. Harsh Vardhan has been 
nominated as a member of the GAVI Board by 
the Global Alliance for Vaccines and 
Immunization.

	 2.	 India will have its membership from 1 January 
2021 to 31 December 2023.

	 3.	 Before India, its membership was with Brazil.

		  Select the correct answer using the code given below-
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 67.	 Consider the following statements with reference to 
'Indian International Science Festival -2020'.

	 1.	 It was started in the year 2011.

	 2.	 The aim of this festival is to make the general 
public aware of the importance of science and 
the fact that how science, technology, 
engineering and mathematics (STEM) present 
simple solutions to improve our lives.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 68.	 With reference to 'Mock Egg', consider the following 
statements-

	 1.	 A team of scientists from IIT Delhi won an 
innovation competition organized by UNDP 
Accelerator Lab India for innovation of 'Plant 
Based Mock Egg'.

	 2.	 Mock egg has been developed in very simple 
way from agricultural crops, in which protein 
is found.

	 3.	 The taste and nutritional characteristics of 
Mock Egg are similar to those of poultry eggs.

	 4.	 Mock egg serves the protein requirements of 
pure vegetarian people.

		  Which of the statements given above are correct?
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only

	 (c)	 1, 3 and 4 only	 (d)	 All of the above

	 69.	 Consider the following statements.
	 1.	 India has become the first country to have a 

'hypersonic wind tunnel' test facility.

	 2.	 The hypersonic wind, tunnel, pressure vacuum 
is a modern system that emulates Mac Five to 
Mac Twelve.
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	 3.	 ;g iz.kkyh Hkfo"; esa vR;fèkd tfVy ,;jksLisl 
vkSj j{kk iz.kkfy;ksa ds dk;kZUo;u esa izeq[k Hkwfedk 
fuHkk,xhA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3 

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 70.	^mRifjo£rr dksjksuk ok;jl* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj djsa&

	 1.	 uksoy dksjksuk ok;jl ds ,d u, mRifjorhZ Lo:i 
dk irk pyk gS tks ;wukbVsM fdaxMe esa iQSys u, 
laØe.k gsrq mÙkjnk;h gSA

	 2.	 mRifjorhZ ok;jl dh igpku N501Y ds :i esa 
dh xbZ gS] ftlesa blds Likbd izksVhu esa mRifjorZu 
dh laHkkouk O;Dr dh tk jgh gSA

	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa% 

	 (a)	 dsoy 1	 (b)	dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 u gh 2

	 71.	^Vªkal iQSVh ,flM* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft,\

	 1.	 [kk| lqj{kk vkSj ekud (fcØh ij fu"ksèk vkSj 
izfrcaèk) fofu;e] 2011 esa la'kksèku djrs gq, rsy 
vkSj olk esa Vªkal iQSVh ,flM dh ek=kk dks orZeku 
vuqeU; ek=kk 5% ls ifjo£rr dj o"kZ 2021 ds 
fy;s 3% vkSj 2022 rd 2% dj fn;k x;k gSA

	 2.	 Ñf=ke Vªkal iQSVh ,flM rc curs gSa tc 'kq¼ ?kh@
eD[ku ds leku iQSV@ olk ds mRiknu esa rsy ds 
lkFk gkbMªkstu dh izfrfØ;k djkbZ tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 72.	f}foeh; bysDVªkWu xSl ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 uSuks foKku vkSj izkS|ksfxdh laLFkku ds oSKkfudksa us 
mPp xfr'khyrk okyh f}foeh; bysDVªkWu xSl dk 
mRiknu fd;k gSA

	 2.	 bysDVªkWu xSl fdlh midj.k ds ,d fgLls ls nwljs 
esa DokaVe lwpuk vkSj flXuy ds gLrkarj.k esa rsth 
ykus ds lkFk gh MsVk LVksjst vkSj eseksjh dks Hkh 
c<+k ldrh gSA

	 3.	 bysDVªkWu xSl vius izokg ds nkSjku vfèkd Vdjkrh 
gS] vr% bldk izfrjksèk cgqr vfèkd gksrk gSA

	 	mi;qZDr dFkuksa esa dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 3.	 This system will play a major role in the 
implementation of highly complex aerospace 
and defence systems in the future.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 70.	 Consider the following statements with reference to 

‘mutated corona virus’-
	 1.	 A new mutant form of the novel corona virus 

has been detected, that is responsible for the 
new infection spreading in the United 
Kingdom.

	 2.	 The mutant virus has been identified as N501Y, 
expressing the possibility of a mutation in its 
spike protein.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 71.	 Consider the following statements with reference to 
'Trans Fatty Acid':

	 1.	 Amending the Food Safety and Standards 
(Prohibition and Restrictions on Sales) 
Regulations, 2011, the amount of trans fatty 
acids in oils and fats has been changed from 
the present permissible quantity of 5% to 3% 
for the year 2021 and 2% by 2022.

	 2.	 Artificial trans fatty acids are formed when 
hydrogen is reacted with oil to produce fat 
similar to pure ghee / butter.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 72.	 Consider the following statements with reference to 
two-dimensional electron gas:

	 1.	 Scientists at the Institute of Nanotechnology 
and Technology have produced high-mobility 
two-dimensional electron gas.

	 2.	 Electron gas can accelerate the transfer of 
quantum information and signals from one part 
of an instrument to another, as well as increase 
data storage and memory.

	 3.	 The electron gas collides more during its flow, 
so its resistance is much higher.

		  Which of the statements given above  are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	 73.	^gsefjt lsIVhlhfe;k* uked chekjh ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ^ik'pjsyk eYVksflMk* uked ,d laØked cSDVhfj;k 
}kjk nwf"kr ty ;k feV~Vh ds laidZ esa vkus okys 
tkuojksa dks ;g chekjh laØfer djrh gSA

	 2.	 ;g chekjh tkuojksa ds iztuu ra=k dks izHkkfor 
djrh gSA

	 3.	 ;g chekjh eq[; :i esa HkSal] eos'kh vkSj ckblu 
dks izHkkfor djrh gSA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	mijksDr lHkh

	 74.	gky gh esa i;kZoj.k ou ,oa tyok;q ifjorZu ea=kky; }kjk 
^Hkkjr esa rsanqvksa dh fLFkfr&2018* fjiksVZ tkjh dh xbZA 
bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;sA

	 1.	 rsanqvksa ds fuokl {ks=k esa fiNys 100–125 o"kks± esa 
vR;fèkd deh vkbZ gS tcfd rsanqvksa dh vuqekfur 
la[;k esa o`f¼ gqbZ gSA

	 2.	 vkbZ-;w-lh-,u- dh jsM fyLV esa rsanq, dks lqHks| ds 
:i esa oxhZÑr fd;k x;k gSA

	 3.	 mÙkjk[kaM] rsanqvk laj{k.k dh fn'kk esa ̂ izkstsDV ysiMZ* 
'kq: djus okyk izFke jkT; gSA

	 4.	 rsanqvksa dh lokZfèkd vkcknh eè; izns'k esa gSA

	 		 mi;qZDr dFkuksa esa ls dkSu ls lgh gSa\

	 (a)	 dsoy 1, 2 vkSj 4	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1, 2 vkSj 3	 (d)	1, 2, 3 vkSj 4

	 75.	^Cyw ÝySx izek.ki=k* tkjh fd;k tkrk gS%&

	 (a)	 foÙkh; {ks=k dks

	 (b)	 mQtkZ mRiknu ds {ks=k dks

	 (c)	 leqnz rVh; {ks=k dks

	 (d)	 [ksy ls lacafèkr {ks=kksa dks

	 76.	gky gh esa Hkkjr ljdkj us bFksukWy tSls gfjr b±èku dks 
c<+kok nsus ds fy;s E-20 b±èku dks viukus ds fo"k; esa 
lkoZtfud lq>ko vkeaf=kr fd;s gSaA bl lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 E-20 b±èku xSlksyhu vkSj bFksukWy (20%) dk feJ.k 
gksrk gSA

	 2.	 orZeku esa bFksukWy lfEeJ.k dk ekU; Lrj 10% 
gSA ;|fi Hkkjr o"kZ 2019 esa dsoy 5.6% rd ds 
Lrj ij gh igq¡p ik;kA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 73.	 Consider the following statements with reference to 
the disease called 'Hemorrhagic septicemia':

	 1.	 The disease infects animals exposed to 
contaminated water or soil by infectious 
bacteria called 'Pasteurella multocida'.

	 2.	 The disease affects the reproductive system of 
animals. 

	 3.	 The disease mainly affects buffalo, cattle and 
bison.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 All of the above

	 74.	 Recently 'Leopard Status in India-2018' report was 
released by Ministry of Environment, Forest and 
Climate Change. In this context, consider the 
following statements. 

	 1.	 The habitat area of leopards has decreased 
drastically in the last 100–125 years whereas 
the estimated number of leopards has increased.

	 2.	 Leopard is classified as vulnerable in the Red 
List of IUCN.

	 3.	 Uttarakhand is the first state to introduce 
'Project Leopard' for leopard conservation.

	 4.	 Madhya Pradesh has the highest population of 
leopards.

		  Which of the statements given above are correct?
	 (a)	 1, 2, and 4 only	 (b)	 2, 3 and 4 only

	 (c)	 1, 2 and 3 only	 (d)	 1, 2, 3 and 4

75. 'Blue Flag Certificate' is issued: -

	 (a)	 To the financial sector

	 (b)	 To the area of energy production

	 (c)	 To the coastal area

	 (d)	 To the sports related areas

	 76	  Recently, the Government of India has invited public 
suggestions regarding the adoption of E-20 fuel to 
promote green fuels like ethanol. In this context, 
consider the following statements:

	 1.	 E-20 fuels are a mixture of gasoline and ethanol 
(20%).

	 2.	 The currently accepted level of ethanol 
blending is 10%. Although India only reached 
the level of 5.6% in the year 2019.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 77.	^jk"Vªh; oU;tho cksMZ* dh 60oha cSBd esa dSjkdy dks 
^oU; tho vkokl dk ,dhÑr fodkl* dk;ZØe ds rgr 
laj{k.k iznku djus ds fy;s LohÑfr nh xbZ] ;g iztkfr gS%

	 (a)	 taxyh xèkk	 (b)	taxyh fcYyh

	 (c)	 fxygjh	 (d)	canj

	 78.	^fgeky;u fVªfy;e* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 gky gh esa ^fgeky;u fVªfy;e* dks varjkZ"Vªh; 
izÑfr laj{k.k la?k }kjk ^ladVxzLr* ?kksf"kr fd;k 
x;kA

	 2.	 ;g fgeky; dh ,d lkekU; tM+h&cwVh gS tks 
^LVsjkW;My lSiksfuu* dk ,d izkÑfrd lzksr gSA

	 3.	 LVsjkW;My lSiksfuu] LVsjkW;M nokvksa dk egÙoiw.kZ 
?kVd gSA

	 		 mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	1, 2 vkSj 3

	 79.	gky gh esa mÙkjk[kaM ds uSuhrky f”kys esa ns'k dk izFke 
ikWyhusVj (ijkx.kd lg;ksxh) ikdZ [kksyk x;kA blds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl ikWyhusVj ikdZ esa] frrfy;ksa] eèkqefD[k;ksa] if{k;ksa] 
dhVksa] iraxksa] Hk`axksa] rrS;k vkfn dh pkyhl ls 
vfèkd ikWfyusVj iztkfr;k¡ gSaA

	 2.	 ikWfyusVj nqfu;k Hkj esa 87 izeq[k [kk| iQlyksa ds 
mRiknu esa leFkZu djrs gSaA

	 3.	 ikWfyusVj dh la[;k de gksus ij ikSèkksa dh ekStwnk 
vkcknh esa deh ns[kh tk ldrh gSA

	 		 mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 80.	^dksykj yhiQ&uks”M cSV* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g Hkkjr esa ikbZ tkus okyh LFkkfud iztkfr gS rFkk 
orZeku esa ;g dsoy dukZVd ds dksykj f”kys ds 
guqekugYyh xk¡o esa ikbZ tkrh gSA

	 2.	 vkbZ-;w-lh-,u- dh jsM fyLV esa bls xaHkhj :i ls 

ladVxzLr iztkfr ds :i esa rFkk ^oU;tho laj{k.k 

vfèkfu;e&1972* ds rgr dkuwuh laj{k.k izkIr gSA

	 	mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa

	 (d)	 u rks 1, u gh 2

	 77.	 In the 60th meeting of the 'National Wildlife Board', 
Karaikal was given approval to provide protection 
under the 'Integrated Development of Wildlife 
Habitat' program, this species is:

	 (a)	 Wild Ass	 (b)	 Wild cat

	 (c)	 Squirrel	 (d)	 Monkey

	 78.	 Consider the following statements with reference to 
'Himalayan Trillium':

	 1.	 Recently 'Himalayan Trillium' has been 
declared 'endangered' by the International 
Union for Conservation of Nature.

	 2.	 It is a common Himalayan herb which is a 
natural source of 'steroidal saponins'.

	 3.	 Steroidal saponins are an important component 
of steroid drugs.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 1, 2 and 3

	 79.	 Recently, the country's first Pollinator (pollinator 
aide) park was opened in Nainital district of 
Uttarakhand. In this context, consider the following 
statements:

	 1.	 In this Pollinator Park, there are more than 
forty Pollinator species of butterflies, bees, 
birds, insects, kites, beetles, wasps etc.

	 2.	 Pollinators support the production of 87 major 
food crops worldwide.

	 3.	 A decrease in the existing population of plants 
can be observed when the number of Pollinator 
is low.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 80.	 Consider the following statements with reference to 
'Kolar Leaf-Nosed Bat':

	 1.	 It is an endemic species found in India and 
currently it is found only in Hanumanhalli 
village of Kolar district, Karnataka.

	 2.	 It is listed as a critically endangered species in 
the Red List of IUCN and has legal protection 
under the 'Wildlife Protection Act-1972'.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only

	 (b)	 2 only

	 (c)	 Both 1 and 2

	 (d)	 Neither 1 nor 2
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	 81.	gky gh esa i;kZoj.k] ou ,oa tyok;q ifjorZu ea=kky; us 
ns'k ds 146 jk"Vªh; m|kuksa vkSj oU;tho vHk;kj.;ksa dk 
izcaèku izHkko'khyrk ewY;kadu tkjh fd;k gSA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s\

	 1.	 lajf{kr {ks=kksa dk ^izcaèku izHkko'khyrk ewY;kadu* 
,d midj.k gS ftldk mi;ksx ljdkjksa rFkk 
varjkZ"Vªh; fudk;ksa }kjk lajf{kr {ks=k izcaèku iz.kkfy;ksa 
ds egÙo vkSj detksfj;ksa dks le>us ds fy;s fd;k 
tkrk gSA

	 2.	 blesa fgekpy izns'k esa rhFkZu oU;tho vHk;kj.; 
vkSj xzsV fgeky;u us'kuy ikdZ us loZJs"B izn'kZu 
fd;k gSA

	 3.	 mÙkj izns'k fLFkr ^dNqvk oU;tho vHk;kj.;* dk 
izn'kZu lcls [kjkc ik;k x;kA

	 		 mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 82.	JhfofYyiqFkqj&esxkeykbZ Vkbxj fjtoZ ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 dsanz ljdkj us rfeyukMq ds igys Vkbxj fj”koZ ds 
:i esa JhfofYyiqFkqj&esxkeykbZ Vkbxj fj”koZ dks 
eatwjh nh gSA

	 2.	 blesa esxkeykbZ vkSj JhfofYyiqFkqj fxz”kYm fxygjh 
oU;tho vHk;kj.; 'kkfey gksaxsA

	 3.	 ;g Hkkjr dk 41 ok¡ ck?k vHk;kj.; gksxkA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	1, 2 vkSj 3

	 83.	uhyfxfj gkFkh dkWfjMksj ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 uhyfxfj gkFkh dkWfjMksj] ikfjfLFkfrd :i ls 
laosnu'khy flxqj iBkj esa fLFkr gS tks gkfFk;ksa dh 
vkcknh rFkk mudh vkuqoaf'kd fofoèkrk cuk, j[kus 
esa egÙoiw.kZ Hkwfedk fuHkkrk gSA

	 2.	 ;g dkWfjMksj uhyfxfj f”kys esa ^eqnqeykbZ us'kuy 
ikdZ* ds ikl fLFkr gSA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 84.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 gky gh esa dukZVd ds ekaM~;k f”kys esa fyfFk;e 

lalkèkuksa dh mifLFkfr dk irk pyk gSA

	 2.	 fyfFk;e {kkjh; xq.kèkeks± ls ;qDr ,d nqyZHk èkkrq gSA

	 3.	 orZeku esa fyfFk;e ls lacafèkr lHkh vko';drkvksa 
dks iwjk djus ds fy;s Hkkjr }kjk bldk vk;kr 
fd;k tkrk gSA

	 81.	 Recently the Ministry of Environment, Forest and 
Climate Change has released a management 
effectiveness assessment of 146 national parks and 
wildlife sanctuaries in the country. In this context, 
consider the following statements:

	 1.	 'Management effectiveness assessment' of 
protected areas is a tool used by governments 
and international bodies to understand the 
importance and weaknesses of protected area 
management systems.

	 2.	 In this, Tirthan Wildlife Sanctuary and Great 
Himalayan National Park in Himachal Pradesh 
have performed the best.

	 3.	 Uttar Pradesh's 'Kachhua Wildlife Sanctuary' 
was found to have the worst performance.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 82.	 Consider the following statements with reference to 
Srivilliputhur-Megamalai Tiger Reserve:

	 1.	 The Central Government has approved the 
Srivilliputhur-Megamalai Tiger Reserve as the 
first tiger reserve of Tamil Nadu.

	 2.	 It will include Megamalai and Srivilliputhur 
Grizzled Squirrel Wildlife Sanctuary.

	 3.	 It will be the 41st tiger reserve in India.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 1, 2 and 3

	 83.	 Consider the following statements with reference to 
the Nilgiri Elephant Corridor:

	 1.	 The Nilgiri Elephant Corridor is located in the 
ecologically sensitive Sigur Plateau which 
plays an important role in maintaining elephant 
populations and their genetic diversity.

	 2.	 This corridor is located near 'Mudumalai 
National Park' in Nilgiri District.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 84.	 Consider the following statements:
	 1.	 Recently presence of lithium resources has 

been detected in Mandya district of Karnataka.

	 2.	 Lithium is a rare metal with alkaline properties.

	 3.	 At present it is imported by India to meet the 
requirements related to lithium.
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	 4.	 Hkkjr ^fyfFk;e f=kdks.k* ftlesa fpyh] vts±Vhuk 
vkSj cksfyfo;k 'kkfey gSa] esa fyfFk;e&vk;u cSVjh 
la;a=k LFkkfir djus dh izfØ;k esa gSA

	 	mi;qzDr dFkuksa esa ls dkSu ls lgh gS\
	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 2, 3 vkSj 4
	 (c)	 dsoy 1, 3 vkSj 4	 (d)	mijksDr lHkh
	 85	gky gh esa fdu vizQhdh ns'kksa us xzSaM jsuslka MSe tyfo|qr 

ifj;kstuk ij yacs le; ls py jgs tfVy fookn dks gy 
djus ds fy;s ckrphr 'kq: djus ij lgefr O;Dr dh 
gS\

	 (a)	 bfFk;ksfi;k&lwMku&felz

	 (b)	 lksekfy;k&bfFk;ksfi;k&lwMku

	 (c)	 bfjfVª;k&lksekfy;k&bfFk;ksfi;k

	 (d)	 bfjfVª;k&lwMku&felz

	 86.	^xszV xzhu okWy igy* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 bl igy dks lkgsy {ks=k esa e#LFkyhdj.k] Hkwfe 
{kj.k vkSj tyok;q ifjorZu dks lacksfèkr djus ds 
fy;s vizQhdk la?k }kjk 'kq: fd;k x;k FkkA

	 2.	 lkgsy] nf{k.kh vesfjdk esa if'peh vkSj mÙkj eè; 
dk ,d v¼zZ&'kq"d {ks=k gSA

	 	mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2
	 87.	Hkkjr dh Hkw&rkih; fctyh ifj;kstuk ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 iwohZ yík[k ds iwxk xk¡o esa Hkkjr dh igyh Hkw&rkih; 

fctyh ifj;kstuk 'kq: dh tk,xhA

	 2.	 bl ifj;kstuk ds igys pj.k esa rsy ,oa izkÑfrd 
xSl fuxe fyfeVsM }kjk ,d esxkokV dh {kerk 
okys fctyh la;a=k pykus ds fy;s 500 ehVj rd 
dh [kqnkbZ dh tk,xhA

	 3.	 yík[k ds iwxk vkSj pqekFkkax dks Hkkjr esa lcls 
egÙoiw.kZ Hkw&rkih; {ks=kksa esa ls ,d ekuk tkrk gSA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2
	 (c)	 dsoy 3	 (d)	1, 2 vkSj 3
	 88.	^ukWMZ LVªhe 2 izkstsDV* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ukWMZ LVªhe 2 ifj;kstuk ckfYVd lkxj ls gksdj :l 

ls ;wjksi dks dh tkus okyh xSl fu;kZr ds mís'; ls 
dk;kZfUor dh tk jgh ikbiykbu ifj;kstuk gSA

	 2.	 orZeku esa ;wjksih; ;wfu;u viuh xSl dh 40% 
vko';drkvksa dh iw£r ds fy;s #l ij fuHkZj gSA

	 	mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2 

	 4.	 India is in the process of setting up a lithium-
ion battery plant in the 'Lithium Triangle' 
includes Chile, Argentina and Bolivia.

		  Which of the statements given above are correct?
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 3 and 4 only	 (d)	 All of the above
	 85.	 Recently which of the following African countries 

have agreed to start negotiations to resolve the long-
running complex dispute over the Grand Renaissance 
Dam hydroelectric project?

	 (a)	 Ethiopia-Sudan-Egypt
	 (b)	 Somalia-Ethiopia-Sudan
	 (c)	 Eritrea-Somalia-Ethiopia
	 (d)	 Eritrea-Sudan-Egypt
	 86.	 Consider the following statements with reference to 

the 'Great Green Wall Initiative':
	 1.	 This initiative was initiated by the African 

Union to address desertification, land 
degradation and climate change in the Sahel 
region.

	 2.	 The Sahel is a semi-arid region of the western 
and north central of South America.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 87.	 Consider the following statements with reference to 

the geothermal power project of India:
	 1.	 India's first geothermal power project will be 

started in Puga village in eastern Ladakh.
	 2.	 In the first phase of this project, oil and natural 

gas corporation limited will excavate up to 500 
meters to run a power plant with a capacity of 
one megawatt.

	 3.	 Puga and Chumathang of Ladakh are 
considered as one of the most important 
geothermal regions in India.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 88.	 Consider the following statements with reference to 

the 'Nord Stream 2 Project':
	 1.	 Nord Stream 2 project is a pipeline project 

being implemented for the purpose of exporting 
gas from Russia to Europe via the Baltic Sea.

	 2.	 At present, the European Union dependent on 
Russia to meet 40% of its gas requirements.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2



26lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 8750187501, 011-47532596

bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 89.	gky gh esa f=kiqjk ljdkj us ikjaifjd ifjèkku ^fjlk* dks 

jk"Vªh; Lrj ij f=kiqjk ds fpÉd ifjèkku ds :i esa c<+kok 

nsus dk fu.kZ; fy;k gSA bl lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ^fjlk* gkFk ls cuk ,d diM+k gS ftldk bLrseky 

efgyk,¡ djrh gSaA

	 2.	 ^fjlk* dh czkafMax ^bafM;k gSaMywe czkaM* ds rgr 

dh tk jgh gS] tks dsanz ljdkj dh ^oksdy iQkWj 

yksdy* igy dk leFkZu djrk gSA

	 3.	 ^fjlk* dks c<+kok nsus ds fy;s vkaxuckM+h vkSj 

vk'kk dk;ZdÙkkZvksa dks fjlk onhZ iznku djus ds 

lkFk&lkFk f=kiqjk gFkdj?kk rFkk gLrf'kYi fodkl 

fuxe esa fjlk cukus ds fy;s izf'k{k.k dh 'kq#vkr 

dh xbZ gSA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 90.	^fe'ku lkxj&III* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s&

	 1.	 fe'ku lkxj&III dksfoM&19 egkekjh ds nkSjku 

eS=khiw.kZ ns'kksa dks Hkkjr ekuoh; lgk;rk vkSj vkink 

jkgr lg;ksx dk fgLlk gSA

	 2.	 bl dk;ZØe ds ekè;e ls Hkkjr fgan egklkxj {ks=k 

esa 'kkafr] fLFkjrk vkSj le`f¼ lqfuf'pr djus dk 

iz;kl dj jgk gSA

	 3.	 ;g ;kstuk o"kZ 2014 esa 'kq: dh xbZA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	dsoy 2 vkSj 3

	 91.	^dyk mRlo&2020* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 gky gh esa ^dyk vkSj laLÑfr ea=kky;* }kjk dyk 

mRlo&2020 dk vk;kstu fd;k x;kA

	 2.	 bldk mís'; ns'k esa ekè;fed Lrj ij Ldwyh Nk=kksa 

dh dykRed izfrHkk dks igpkuuk] blds iks"k.k 

vkSj izn'kZu ds fy;s eap iznku djuk gSA

	 3.	 dyk (laxhr] jaxeap] u`R;] n`'; dyk vkSj f'kYi) 

dh f'k{kk ds lanHkZ esa ;g igy ^jk"Vªh; ikB~;p;kZ 

:ijs[kk 2005* dh vuq'kalkvksa ij vkèkkfjr gSA

	 		 mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1	 (d)	dsoy 3

	 89.	 Recently the Government of Tripura has decided to 
promote the traditional garment 'Risa' as the marking 
dress of Tripura at the national level. In this context, 
consider the following statements:

	 1.	 Risa is a handmade cloth used by women.

	 2.	 Risa is being branded under the 'India 
Handloom Brand', which supports the 'Vocal 
for Local' initiative of the Central Government.

	 3.	 Along with providing Risa uniforms to 
Anganwadi and Asha workers to promote 
'RISA', training has been started in Tripura 
Handloom and Handicrafts Development 
Corporation to make Risa.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 90.	 Consider the following statements with reference to 
'Mission Sagar-III'-

	 1.	 India is part of the Humanitarian Assistance 
and Disaster Relief Cooperation to friendly 
countries during the Mission Sagar-III 
Covid-19 Pandemic.

	 2.	 Through this program, India is trying to ensure 
peace, stability and prosperity in the Indian 
Ocean region.

	 3.	 The scheme was launched in the year 2014.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 2 and 3 only

	 91.	 Consider the following statements with reference to 
'Kala Utsav -2020':

	 1.	 Recently Kala Utsav -2020 was organized by 
'Ministry of Art and Culture'.

	 2.	 Its objective is to recognize the artistic talent 
of school students at the secondary level in the 
country and to provide a platform for its 
nurturing and performance.

	 3.	 This initiative is based on the recommendations 
of 'National Curriculum Framework 2005' in 
the context of education of arts (music, theater, 
dance, visual arts and crafts).

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 only	 (d)	 3 only
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	 92.	^Ms”kVZ ukbV&21* ;q¼kH;kl fdu ns'kksa ds eè; f}i{kh; 
;q¼kH;kl gS\

	 (a)	 Hkkjr&izQk¡l	 (b)	Hkkjr&teZuh
	 (c)	 vesfjdk&izQk¡l	 (d)	vesfjdk&tkiku

	 93.	vuqPNsn&12 esa dsoy Hkkx&3 ds iz;kstu gsrq lan£Hkr 
^jkT;* dh ifjHkk"kk esa] fuEufyf[kr fudk; 'kkfey gSa&

	 1.	 Hkkjr dh ljdkj ,oa laln

	 2.	 lHkh jkT;ksa dh ljdkjsa rFkk foèkkueaMy

	 3.	 lHkh LFkkuh; izkfèkdkjh

	 4.	 vU; izkfèkdkjh

	 		 dwV dh lgk;rk ls lgh mÙkj pqfu;s%
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1, 2 vkSj 3
	 (c)	 dsoy 2, 3 vkSj 4	 (d)	mijksDr lHkh
	 94.	lekurk dk vfèkdkj (vuqPNsn 14&18) ds varxZr bl 

vfèkdkj ds vioknksa esa 'kkfey gSa&
	 1.	 fons'kh jktuf;d

	 2.	 jk"Vªifr o jkT;iky

	 3.	 LFkkuh; izkfèkdkjh

	 4.	 laln vkSj foèkkueaMy

	 5.	 izsl

	 	dwV dh lgk;rk ls lgh mÙkj pqfu;s%
	 (a)	 dsoy 1, 2, 3 vkSj 4	 (b)	dsoy 1, 2, 4 vkSj 5
	 (c)	 dsoy 2, 3 vkSj 5	 (d)	dsoy 1, 3, 4 vkSj 5
	 95.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 vuqPNsn&23] ekuo ds nqO;kZikj vkSj cykr~ Je 

dk fu"ksèk djrk gSA

	 2.	 ;g vfèkdkj ukxfjd ,oa xSj&ukxfjd nksuksa dks 
miyCèk gSA

	 	mi;qZDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa	
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2
	 96.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 vuqPNsn&32 ewy vfèkdkjksa ds izorZu ds fy;s ,d 

izR;kHkwr mipkj iznku djrk gSA

	 2.	 vkikr mn~?kks"k.kk ds nkSjku jk"Vªifr vuqPNsn&359 
esa nh xbZ 'kfDr dk iz;ksx djrs gq, vuqPNsn&32 
ds rgr feys vfèkdkjksa dks fuyafcr dj ldrk gSA

	 	mi;qZDr dFkuksa esa dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 97.	Hkkjr ds egkU;k;oknh ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 egkU;k;oknh Hkkjr ljdkj dk loksZPp fofèk 
vfèkdkjh gSA

	 2.	 vuqPNsn&76 (4) ds vuqlkj egkU;k;oknh] jk"Vªifr 
ds izlkni;±r in ij jgrk gSA

	 92.	 'Desert Knight-21' exercise was held between which 
of the following countries?

	 (a)	 India-France	 (b)	 India-Germany
	 (c)	 America-France	 (d)	 America-Japan
	 93.	 In the definition of 'State' referred in Article-12 for 

the purpose of Part-3 only, the following bodies is / 
are included in state-

	 1.	 Government and Parliament of India 
	 2.	 Governments and Legislatures of all states 
	 3.	 All local authorities 
	 4.	 Other authorities
		  Select the correct answer using the code given below.
	 (a)	 1 and 2 only	 (b)	 1, 2 and 3 only
	 (c)	 2, 3 and 4 only	 (d)	 All of the above
	 94.	 Exceptions to the right under the Right to Equality 

(Article 14-18) include-
	 1.	 Foreign diplomat 
	 2.	 President and Governor 
	 3.	 Local authority 
	 4.	 Parliament and Legislature 
	 5.	 Press
		  Select the correct answer using the code given below:
	 (a)	 1, 2, 3 and 4 only	 (b)	 1, 2, 4 and 5 only
	 (c)	 2, 3 and 5 only	 (d)	 1, 3, 4 and 5 only
	 95.	 Consider the following statements:
	 1.	 Article 23 prohibits human trafficking and 

forced labor.
	 2.	 This right is available to both citizens and 

non-citizens.
		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 96.	 Consider the following statements:
	 1.	 Article 32 provides a guaranteed remedy for 

the enforcement of Fundamental Rights.
	 2.	 During the Proclamation of Emergency, the 

President can suspend the rights granted under 
Article 32 by exercising the power given in 
Article-359.

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 97.	 Consider the following statements with reference to 

the Attorney General of India:
	 1.	 The Attorney General is the highest law officer 

of the Government of India.
	 2.	 According to Article-76 (4), the Attorney-

General hold his office till the pleasure of the 
President.
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	 3.	 vuqPNsn&76 (3) ds vuqlkj egkU;k;oknh dks vius 
dÙkZO; ds ikyu esa Hkkjr ds jkT;{ks=k esa lHkh 
U;k;ky;ksa esa lquokbZ dk vfèkdkj gSA

	 		 mi;qZDr dFkuksa esa ls dkSu&ls lgh gaS\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 98.	yksdlHkk vè;{k ds lanHkZ esa dkSu lk dFku lgh ugha 
gS\

	 (a)	 vè;{k] yksdlHkk ds cSBdksa dk lapkyu rFkk 
dk;Zokgh dks O;ofLFkr vkSj fu;af=kr djrk gSA

	 (b)	 foèks;d] èku foèks;d gS ;k ugha ;g fu'p; djus 
dk nkf;Ro yksdlHkk vè;{k dk gSA

	 (c)	 og yksdlHkk dh lalnh; lfefr;ksa ij fu;a=k.k 
j[krk gS tcfd izèkkuea=kh lfefr;ksa ds izeq[kksa dh 
fu;qfDr djrk gSA

	 (d)	 mls yksdlHkk ds fdlh lnL; ds lacaèk esa ny&cny 
lacaèkh f'kdk;r feyus ij mldh fujgZrk ds iz'u 
ij iQSlyk djus dh 'kfDr izkIr gksrh gSA

	 99.	fuEufyf[kr ij fopkj dhft;s%
	 	 (okn)		  (fuèkkZfjr 

				   vkèkkjHkwr <k¡pk)

	 A.	 feuokZ feYl cuke	 1.	 èkeZ fujis{krk

	 	 Hkkjr la?k (1980)

	 B.	 ,l-vkj- cksEebZ cuke	 2.	 U;kf;d iqu£oyksdu

	 	 Hkkjr la?k (1994)

	 C.	 ds'kokuan Hkkjrh cuke	 3.	 fofèk dk 'kklu

	 	 dsjy jkT; (1973)

	 D.	 bafnjk xkaèkh cuke	 4.	 'kfDr;ksa dk ìFkDdj.k

	 	 jkt ukjk;.k (1975)

		  dwV%
			   A	 B	 C	 D
	 (a)		  2	 1	 4	 3
	 (b)		  2	 4	 1	 3
	 (c)		  1	 2	 3	 4
	 (d)		  4	 3	 2	 1

	100.	lafoèkku la'kksèku ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 la'kksèku dk izLrko laln ds nksuksa lnuksa esa ls fdlh 
esa Hkh izkjaHk fd;k tk ldrk gSA

	 2.	 lafoèkku la'kksèku foèks;d ds ekeys esa ^la;qDr 
cSBd* cqykbZ tk ldrh gSA

	 3.	 jk"Vªifr] lafoèkku la'kksèku foèks;d dks vuqefr nsus 
ds fy;s ckè; gSA

	 	mi;qZDr dFkuksa esa dkSu lk@ls lgh gS@gSa%
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3

	 (c)	 dsoy 1 vkSj 3	 (d)	dsoy 2

	 3.	 According to Article-76 (3), the Attorney 
General has the right to be heard in all the 
courts in the territory of India in pursuance of 
his duty.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 98.	 Which of the following statement is NOT correct 

with reference to the Speaker of Lok Sabha?
	 (a)	 The Speaker administers and regulates the 

conduct and proceedings of the sittings of the 
Lok Sabha.

	 (b)	 The Speaker of the Lok Sabha has to decide 
whether a bill is a money bill or not.

	 (c)	 He controls the parliamentary committees of 
the Lok Sabha while the Prime Minister 
appoints the heads of the committees.

	 (d)	 He has the power to decide on the question of 
disqualification on receiving a complaint of 
defection in relation to a member of the Lok 
Sabha.

	 99.	 Consider the following:
	 (Cases)	 (Prescribed 
		  basic structure)
	 A.	 Minerva Mills vs Union	 1.	Secularism
		  of India (1980)
	 B.	 SR Bommai vs Union	 2.	Judicial Review
		  of India (1994)
	 C.	 Kesavananda Bharti	 3.	Rule of Law
		  vs State of Kerala (1973)
	 D.	 Indira Gandhi vs Raj	 4.	�Separation of
		  Narayan (1975)		 Powers
		  Code:
			   A	 B	 C	 D
	 (a)		  2	 1	 4	 3
	 (b)		  2	 4	 1	 3
	 (c)		  1	 2	 3	 4
	 (d)		  4	 3	 2	 1
	100.	 Consider the following statements with reference to 

the Constitution amendment:
	 1.	 A proposal for amendment can be introduced 

in either of the two houses of Parliament.
	 2.	 A 'Joint sitting' can be called in case of 

Constitution Amendment Bill.
	 3.	 The President is bound to give his assent to 

the Constitution Amendment Bill.
		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 2 only


